IOWA DEPARTMENT OF TRANSPORTATION DIRECTOR'S OFFICE 800 Lincoln Way Ames, Iowa 50010

515-239-1111 www.iowadot.gov

January 3, 2025

Tim McDermott, Director Legislative Services Agency

RE: Iowa Code section 307.47 Equipment and Vehicle Report

Attached is the Equipment and Vehicle Purchase Report for Fiscal Year 2023 as required by Iowa Code section 307.47. The report is sorted by our accounting object codes. The object codes help you sort the equipment into general categories. The following list will help you understand the codes:

Object	Description
701	Self Propelled Vehicles
702	Road Equipment & Trailers
703	Large Office Furniture & Files
704	Shop Tools & Small Equipment
705	Engineer, Survey & Measuring Equipment
706	Copiers, Fax & Communication Equipment
707-711	Computers & Related Equipment

Let me know if you need any further information.

Scott C. Marler

Attachment

		Iowa Departme	ent of Transportati	on FY 24 Revolving Fund Equipment Re	ceived		
Spend Category Group	DOT Spend Category	Receipt	Supplier	Description	Quantity	Unit Cost	Amount
7010 - Self Propelled	7010 "A" Equipment	RC-00013916 for PO-	A & A AUTO PARTS	Aluminum crossover, single-lid, low profile toolbox to fit model	20.00	\$328.00	\$6,560.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00006770 RC-00013916 for PO-	STORES INC A & A AUTO PARTS	year 2023 Ford F150 pickups with standard cab and 8' box. Aluminum crossover, single-lid, low profile toolbox to fit model	2.00	\$295.63	\$591.26
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00006770 RC-00013916 for PO-	STORES INC A & A AUTO PARTS	year 2023 Ford F150 pickups with extended cab and short box. Aluminum crossover, single-lid, low profile toolbox to fit model	1.00	\$295.63	\$295.63
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00006770 RC-00013916 for PO-	STORES INC A & A AUTO PARTS	year 2023 Ford F150 pickups with extended cab 4x4 and short Aluminum crossover, single-lid, low profile toolbox to fit model	2.00	\$328.00	\$656.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00006770 RC-00013930 for PO-	STORES INC STEW HANSENS DODGE	year 2023 Chevrolet Silverado 1500 pickups with crew cab 4x4 Ram 3500 w/Platform Body	1.00	\$47,256.00	\$47,256.00
Vehicles		00003878	CITY	DOT Contract Number - 8233			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	2021+ Ford F-150 Wide Body Console Box with Magnetic Phone Holder, Cup Holder and Side Armrest	20.00	\$957.58	\$19,151.60
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	Mongoose XLE 9" Motion Attachment	20.00	\$325.96	\$6,519.20
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	Gamber Interior Pocket, 3"	20.00	\$37.12	\$742.40
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	Driver Side Armrest for Chevy Tahoe 2007+	20.00	\$102.66	\$2,053.20
7010 - Self Propelled	7010 "A" Equipment	RC-00014327 for PO-	KELTEK INC	Gamber Faceplate, 1.38" Uniden PRO510XL,	20.00	\$19.14	\$382.80
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00004869 RC-00014327 for PO-	KELTEK INC	PRO520SL, PRO520XL Gamber Faceplate, 4" Whelen Cantrol, Carbide,	20.00	\$0.00	\$0.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00004869 RC-00014327 for PO-	KELTEK INC	Cencom Gamber Faceplae, 3" Motorola APX, XTL 05	20.00	\$0.00	\$0.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00004869 RC-00014327 for PO-	KELTEK INC	Control Head Gamber Faceplate, 3" Uniden BCT15X, BCD536,	20.00	\$0.00	\$0.00
Vehicles		00004869 RC-00014327 for PO-	KELTEK INC	HP, BCD996 XLT Gamber 1" Filler Panel	20.00	\$0.00	\$0.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	00004869					
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	Gamber Cigarette Lighter Well Kit	20.00	\$23.20	\$464.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	Gamber / Kussmaul Dual USB Power Port (2 x 2.1 amp)	20.00	\$62.64	\$1,252.80
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	Whelen ION Trio Super-LED Lighthead - Red/ Blue/White	200.00	\$127.05	\$25,410.00
7010 - Self Propelled	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	ION Swivel Mount Kit Individual, not sold in pairs	40.00	\$23.10	\$924.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	RC-00014327 for PO-	KELTEK INC	Light Sold Separately STRIPLITE+ DUO FLASHER RED/WHT	40.00	\$113.30	\$4,532.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00004869 RC-00014327 for PO-	KELTEK INC	STRIPLITE+ DUO FLASHER BLU/WHT	40.00	\$113.30	\$4,532.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00004869 RC-00014327 for PO-	KELTEK INC	STRIP-LITE+ FLASHER RED/CLR	60.00	\$86.90	\$5,214.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00004869 RC-00014327 for PO-	KELTEK INC	STRIP-LITE+ FLASHER BLU/CLR	60.00	\$86.90	\$5,214.00
Vehicles		00004869				·	
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	Vertex Super LED Light Omni Directional Lighthead W/9; Cable - Red	40.00	\$74.80	\$2,992.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	Vertex Super-LED Light Omni Direction Lighthead W/9' Cable - White/Clear	40.00	\$74.80	\$2,992.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	CORE 21 Button Control Head w/4 Position Slide Switch	20.00	\$246.95	\$4,939.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	OBDII CANPort™ Installation Kit for C399 for 2021 Ford	20.00	\$33.00	\$660.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	SA315P Series Speaker Black Plastic	20.00	\$215.05	\$4,301.00
7010 - Self Propelled	7010 "A" Equipment	RC-00014327 for PO-	KELTEK INC	Whelen Siren Speaker Bracket Universal	20.00	\$26.95	\$539.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment		KELTEK INC	CenCom CORE 16 Output 4 Input WeCanX	40.00	\$152.35	\$6,094.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00004869 RC-00014327 for PO-	KELTEK INC	Expansion Module LOGIC LEVEL PHOTOCELL OPTION	40.00	\$66.55	\$2,662.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00004869 RC-00014327 for PO-	KELTEK INC	Carling Switch Rocker ON None DPDT Quick	20.00	\$12.61	\$252.20
Vehicles		00004869		Connnect Rocker 20A 12VDC 150000 Cycle			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	Dual USB Charging Ports 3.1 Amp Max Output, Red LED 4.8-5.2 VDC	20.00	\$58.48	\$1,169.60
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014327 for PO- 00004869	KELTEK INC	Iowa DOT F-150 Core Harness Kit, Includes: Qty 1: SO-IDOT19 Power Output Harness	20.00	\$1,037.17	\$20,743.40
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014426 for PO- 00005357	Murphy Tractor & Equipment Co (Des Moines)	Excavator thumb and counterweight installation per Quote ID 28219735	0.00	\$18,966.00	\$0.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014426 for PO- 00005357	Murphy Tractor & Equipment Co (Des Moines)	Additional expense for parts and labor for the 2017 John Deere 160G Serial #1FF160GXKHF056631	0.00	\$3,893.31	\$0.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014432 for PO- 00005357	Murphy Tractor & Equipment Co (Des Moines)	Excavator thumb and counterweight installation per Quote ID 28219735	2.00	\$18,966.00	\$37,932.00
7010 - Self Propelled	7010 "A" Equipment	RC-00014432 for PO-	Murphy Tractor & Equipment	Additional expense for parts and labor for the 2017 John Deere	1.00	\$3,893.31	\$3,893.31
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00005357 RC-00014496 for PO-	Co (Des Moines) Bobcat Company	160G Serial #1FF160GXKHF056631 Bobcat T770, wide track	10.00	\$73,163.50	\$731,635.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00005594 RC-00014513 for PO-	Bobcat of Ames	Per attached quote Diamond Severe Duty M Series Door - T770	18.00	\$2,695.00	\$48,510.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00005524 RC-00014513 for PO-	Bobcat of Ames	Per attached email Diamond Severe Duty R Series Door - T86	1.00	\$3,085.00	\$3,085.00
Vehicles		00005524		Per attached email			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014514 for PO- 00005525	Bobcat of Ames	Diamond Severe Duty M Series Door - T770 Per attached email	7.00	\$2,695.00	\$18,865.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014514 for PO- 00005525	Bobcat of Ames	Diamond Severe Duty R Series Door - T86 Per attached email	1.00	\$3,085.00	\$3,085.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014536 for PO- 00003699	O'HALLORAN INTERNATIONAL INC	Extra Heavy Duty, Tandem Axle Snow Truck w/Ultra Shift Transmission	1.00	\$169,021.00	\$169,021.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014565 for PO- 00003701	O'HALLORAN INTERNATIONAL INC	Extra Heavy Duty, Tandem Axle Snow Truck, 14-Foot Dump Body w/Ultra Shift Transmission	1.00	\$168,699.00	\$168,699.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014603 for PO- 00000233	O'HALLORAN INTERNATIONAL INC	Extra Heavy Duty, Tandem Axle Snow Truck, 14-Foot Dump Body w/Ultra Shift Transmission	1.00	\$154,042.00	\$154,042.00
7010 - Self Propelled	7010 "A" Equipment	RC-00014639 for PO-	O'HALLORAN	Extra Heavy Duty, Tandem Axle Snow Truck w/Ultra Shift	1.00	\$168,699.00	\$168,699.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00003700 RC-00014717 for PO-	INTERNATIONAL INC O'HALLORAN	Transmission Extra Heavy Duty, Tandem Axle Snow Truck, 14-Foot Dump Body	1.00	\$154,042.00	\$154,042.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000233 RC-00014734 for PO-	INTERNATIONAL INC Bobcat Company	w/Ultra Shift Transmission Bobcat T770, wide track	4.00	\$73,163.50	\$292,654.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00005561 RC-00014735 for PO-	Bobcat Company	Per attached quote Bobcat T770, wide track	3.00	\$73,163.50	\$219,490.50
Vehicles		00005594		Per attached quote			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014768 for PO- 00005220	KARL CHEVROLET INC - ANKENY	Chevrolet Silverado LT per the attached specification DAS STP 3.3	1.00	\$42,021.40	\$42,021.40

7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00014790 for PO- 00005911	DEERE & COMPANY	John Deere Gator XUV835M per John Deere quote ID 28277007	1.00	\$16,984.14	\$16,984.14
7010 - Self Propelled	7010 "A" Equipment	RC-00014947 for PO-	STEW HANSENS DODGE	Chrysler Pacifica	2.00	\$37,864.00	\$75,728.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00003837 RC-00015000 for PO-	ROAD MACHINERY &	DOT Contract: 8233 Astec RP175, S/N 4512	1.00	\$481,305.00	\$481,305.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00006529 RC-00015129 for PO-	SUPPLIES COMPANY Bobcat Company	8' Rubber track asphalt paver Bobcat T770, wide track	2.00	\$73,163.50	\$146,327.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00005594 RC-00015129 for PO-	Bobcat Company	Per attached quote Bobcat T86 per attached quote	1.00	\$92,811.68	\$92,811.68
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00005594 RC-00015241 for PO-	Stivers Ford	Quote Number MMB-02271 3/4 ton pickup per attached specifications	1.00	\$43,689.43	\$43,689.43
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00007626 RC-00015242 for PO-	Stivers Ford	Extended Cab 3/4ton, 4x4 Pickup with snow plow prep package	1.00	\$48,304.64	\$48,304.64
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00007628 RC-00015243 for PO-	Stivers Ford	per attached specifications Crew Cab 1ton 56"CA 4x4 Pickup per attached specifications	1.00	\$53.114.86	\$53,114.86
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00007631 RC-00015244 for PO-	Stivers Ford	Crew Cab 1ton 4x4 Pickup per attached specifications	1.00	\$53.114.86	\$53,114.86
Vehicles		00007633				, , , , , ,	
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00015518 for PO- 00000230	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic Transmission	1.00	\$145,536.00	\$145,536.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00015547 for PO- 00003641	O'HALLORAN INTERNATIONAL INC	Extra Heavy Duty, Tandem Axle Snow Truck w/Ultra Shift Transmission	1.00	\$167,114.00	\$167,114.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00015561 for PO- 00006186	Gregg Young Auto Center	Used 2-passenger cargo van meeting the requirements below:	1.00	\$51,500.00	\$51,500.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00015584 for PO- 00006646	Murphy Tractor & Equipment Co (Des Moines)	2024 John Deere 160G Tracked Excavator per attached proposal	2.00	\$210,790.79	\$421,581.58
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00015625 for PO- 00005594	Bobcat Company	Bobcat T770, wide track Per attached quote	2.00	\$73,163.50	\$146,327.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00015626 for PO- 00005561	Bobcat Company	Bobcat T770, wide track Per attached quote	3.00	\$73,163.50	\$219,490.50
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00015682 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic Transmission	1.00	\$143,945.00	\$143,945.00
7010 - Self Propelled	7010 "A" Equipment	RC-00015752 for PO- 00000227	O'HALLORAN	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body	1.00	\$143,945.00	\$143,945.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	RC-00015818 for PO-	O'HALLORAN	W/Automatic Transmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body	1.00	\$143,945.00	\$143,945.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000227 RC-00015821 for PO-	O'HALLORAN	W/Automatic Transmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body	1.00	\$146,845.00	\$146,845.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000231 RC-00015832 for PO-	INTERNATIONAL INC O'HALLORAN	W/Automated Manual Transmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body	1.00	\$146,598.00	\$146,598.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000231 RC-00015920 for PO-	INTERNATIONAL INC O'HALLORAN	W/Automated Manual Transmission Extra Heavy Duty, Tandem Axle Snow Truck w/Ultra Shift	1.00	\$168,699.00	\$168,699.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00003696 RC-00015971 for PO-	INTERNATIONAL INC VAN-WALL EQUIPMENT	Transmission Electric Pallet Jacks per attached specification	2.00	\$4,450.00	\$8,900.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00007907 RC-00016000 for PO-	INC Ariens Company	Gravely HD60	2.00	\$5,400.00	\$10,800.00
Vehicles		00008052		60" Deck		\$281,654.72	
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00016126 for PO- 00004418	Murphy Tractor & Equipment Co (Des Moines)	John Deere 670G Motor Grader w/Balderson front Hitch, engine block heater, & backup camera	1.00		\$281,654.72
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00016127 for PO- 00006647	Co (Des Moines)	2024 John Deere 670G Motor Grader per attached proposal	2.00	\$267,552.12	\$535,104.24
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00016127 for PO- 00006647	Murphy Tractor & Equipment Co (Des Moines)	2' Moldboard extension, Right Per quote #	2.00	\$1,667.60	\$3,335.20
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00016232 for PO- 00003937	STEW HANSENS DODGE CITY	RAM 1500 SSV (DS6T98) DAS Contract: 22080	2.00	\$37,050.50	\$74,101.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00016284 for PO- 00000219	O'HALLORAN INTERNATIONAL INC	Medium Duty, LWB, Single Axle Snow Truck w/Automatic	1.00	\$141,782.00	\$141,782.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00016366 for PO- 00007850	DEERE & COMPANY	John Deere Z515E	2.00	\$5,129.05	\$10,258.10
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00016501 for PO- 00008590	KARL EMERGENCY VEHICLES	Mid-Size Sedan per attached specifications	3.00	\$22,674.80	\$68,024.40
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00016502 for PO- 00008607	KARL EMERGENCY VEHICLES	Mid-size Sedan per attached specifications	2.00	\$22,674.80	\$45,349.60
7010 - Self Propelled	7010 "A" Equipment	RC-00016525 for PO-	Bobcat Company	Bobcat T86 per attached quote	1.00	\$90,009.20	\$90,009.20
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00005561 RC-00016527 for PO-	Bobcat Company	Quote Number MMB-02271 Bobcat T770, wide track	1.00	\$73,163.50	\$73,163.50
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00005594 RC-00016947 for PO-	OCTANE FORKLIFTS INC	Per attached quote 4-Wheel Sit Down Electric Forklift	1.00	\$35,129.00	\$35,129.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00006598 RC-00017212 for PO-	DEERE & COMPANY	New and unused John Deere Gator XUV835M per Quote 29825990	2.00	\$19,416.22	\$38,832.44
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00007946 RC-00017296 for PO-	STEW HANSENS DODGE	RAM ProMaster 3500 Tradesman	1.00	\$58,852.00	\$58,852.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00006820 RC-00017726 for PO-	CITY O'HALLORAN	Per DAS spec FVN Group 3.1 Medium Duty, Crew Cab w/16K Front Axle, Single Axle Snow	1.00	\$138,502.00	\$138,502.00
Vehicles 7010 - Self Propelled	7010 'A' Equipment	00000241 RC-00017728 for PO-	INTERNATIONAL INC	Truck wAutomatic Extra Heavy Duty, Tandem Axle Snow Truck, 14-Foot Dump Body	1.00	\$168,699.00	\$168,699.00
Vehicles 7010 - Self Propelled 7010 - Self Propelled		00003617	INTERNATIONAL INC	w/Ultra Shift Transmission		\$168,699.00 \$40.814.98	
Vehicles	7010 "A" Equipment	RC-00017946 for PO- 00008224	VEHICLES	Standard Cab Pickup, 4x4 per attached specifications	1.00	, ,,	\$40,814.98
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00017947 for PO- 00008219	KARL EMERGENCY VEHICLES	Standard Cab Pickup per attached specifications	2.00	\$37,556.04	\$75,112.08
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00018117 for PO- 00008224	KARL EMERGENCY VEHICLES	Standard Cab Pickup, 4x4 per attached specifications	2.00	\$40,814.98	\$81,629.96
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00018119 for PO- 00008219	KARL EMERGENCY VEHICLES	Standard Cab Pickup per attached specifications	4.00	\$37,556.04	\$150,224.16
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00018392 for PO- 00008219	KARL EMERGENCY VEHICLES	Standard Cab Pickup per attached specifications	4.00	\$37,419.54	\$149,678.16
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00018440 for PO- 00006035	O'HALLORAN INTERNATIONAL INC	International CV515 per the attached quote	1.00	\$67,715.00	\$67,715.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00018709 for PO- 00007850	DEERE & COMPANY	John Deere Z960	1.00	\$12,467.04	\$12,467.04
7010 - Self Propelled	7010 "A" Equipment	RC-00018842 for PO-	O'HALLORAN	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body	1.00	\$143,945.00	\$143,945.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000227 RC-00018849 for PO-	O'HALLORAN	W/Automatic Transmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body	1.00	\$143,945.00	\$143,945.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000227 RC-00019237 for PO-	O'HALLORAN	W/Automatic Transmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body	1.00	\$143,945.00	\$143,945.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000227 RC-00019238 for PO-	INTERNATIONAL INC O'HALLORAN	W/Automatic Transmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body	1.00	\$146,845.00	\$146,845.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000231 RC-00019263 for PO-	INTERNATIONAL INC Midwest Wheel Co	W/Automated Manual Transmission Aluminum crossover, single-lid, low profile toolbox to fit model	2.00	\$325.00	\$650.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00009972 RC-00019388 for PO-	KARL EMERGENCY	year 2024 Chevrolet Silverado 1500 regular cab, long box Crew Cab 4x4 Pickup with 6' box per attached proposal	13.00	\$45,201.20	\$587,615.60
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00010047 RC-00019388 for PO-	VEHICLES KARL EMERGENCY	2024 Chevrolet Silverado 1500 (CK10543) 4x4 Crew Cab 147" Crew Cab 4x4 Pickup with 6' box per attached proposal	1.00	\$45,201.20	\$45,201.20
Vehicles	, o.o , cquipinent	00010047	VEHICLES	2024 Chevrolet Silverado 1500 (CK10543) 4x4 Crew Cab 147"	1.00	ψ -1 3,201.20	ψ 4 υ,ευ1.20

7010 - Self Propelled	7010 "A" Equipment	RC-00019465 for PO-	Stivers Ford	Mid-Size Extended Cab Pickup, Short Box per attached	3.00	\$38,884.21	\$116,652.63
Vehicles		00007916		specifications			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00019467 for PO- 00009953	GREEN FAMILY CHEVROLET	Compact FWD SUV per attached specifications	8.00	\$26,392.55	\$211,140.40
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00019501 for PO- 00009953	GREEN FAMILY CHEVROLET	Compact FWD SUV per attached specifications	5.00	\$26,392.55	\$131,962.75
7010 - Self Propelled	7010 "A" Equipment	RC-00019509 for PO- 00007916	Stivers Ford	Mid-Size Extended Cab Pickup, Short Box per attached	4.00	\$39,148.78	\$156,595.12
Vehicles 7010 - Self Propelled	7010 "A" Equipment	RC-00019562 for PO-	O'HALLORAN	specifications 2023 International HV607 SBA (HV607) Cab/Chassis	1.00	\$91,686.00	\$91,686.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000954 RC-00019587 for PO-	INTERNATIONAL INC GREEN FAMILY	AWD or 4x4 Compact SUV per attached specifications	4.00	\$27,903.68	\$111,614.72
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00009955 RC-00019600 for PO-	CHEVROLET O'HALLORAN	Extra Heavy Duty, Tandem Axle Snow Truck w/Ultra Shift	1.00	\$169,021.00	\$169,021.00
Vehicles		00003702	INTERNATIONAL INC	Transmission			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00019655 for PO- 00009953	GREEN FAMILY CHEVROLET	Compact FWD SUV per attached specifications	3.00	\$26,392.55	\$79,177.65
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00019772 for PO- 00009953	GREEN FAMILY CHEVROLET	Compact FWD SUV per attached specifications	3.00	\$26,392.55	\$79,177.65
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00019773 for PO- 00009955	GREEN FAMILY CHEVROLET	AWD or 4x4 Compact SUV per attached specifications	1.00	\$27,903.68	\$27,903.68
7010 - Self Propelled	7010 "A" Equipment	RC-00019952 for PO-	Stivers Ford	Mid-Size Extended Cab Pickup, Short Box per attached	9.00	\$39,164.91	\$352,484.19
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00007916 RC-00019982 for PO-	MARTIN EQUIPMENT OF	specifications Werkbrau 130thumb and bottom mount 1500lb counterweight	1.00	\$18,550.00	\$18,550.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00007772 RC-00020079 for PO-	IOWA-ILLIONOIS INC KARL EMERGENCY	installation Crew Cab 1ton 56"CA Pickup per attached specifications	1.00	\$47,002.04	\$47,002.04
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00009878 RC-00020151 for PO-	VEHICLES Stivers Ford	Mid-Size Extended Cab Pickup, Short Box per attached	1.00	\$38,908.22	\$38,908.22
Vehicles		00007916		specifications			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00020151 for PO- 00007916	Stivers Ford	Mid-Size Extended Cab Pickup, Short Box per attached specifications	11.00	\$39,164.91	\$430,814.01
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00020322 for PO- 00007916	Stivers Ford	Mid-Size Extended Cab Pickup, Short Box per attached specifications	11.00	\$39,164.91	\$430,814.01
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00020324 for PO- 00007916	Stivers Ford	Mid-Size Extended Cab Pickup, Short Box per attached specifications	5.00	\$39,164.91	\$195,824.55
7010 - Self Propelled	7010 "A" Equipment	RC-00020486 for PO-	Stivers Ford	Mid-Size Extended Cab Pickup, Short Box per attached	1.00	\$39,164.91	\$39,164.91
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00007916 RC-00020527 for PO-	Stivers Ford	specifications Mid-Size Extended Cab Pickup, Short Box per attached	8.00	\$38,909.83	\$311,278.64
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00007916 RC-00020527 for PO-	Stivers Ford	specifications Mid-Size Extended Cab Pickup, Short Box per attached	9.00	\$39,166,53	\$352,498.77
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00007916 RC-00020698 for PO-	Stivers Ford	Specifications Mid-Size Extended Cab Pickup, Short Box per attached Mid-Size Extended Cab Pickup, Short Box per attached	0.00	\$38,908.22	\$0.00
Vehicles		00007916		specifications			·
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00020841 for PO- 00003296	MH EQUIPMENT COMPANY	Yale GP090VX Forklift Truck	2.00	\$76,417.80	\$152,835.60
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00020871 for PO- 00007916	Stivers Ford	Mid-Size Extended Cab Pickup, Short Box per attached specifications	2.00	\$38,909.83	\$77,819.66
7010 - Self Propelled	7010 "A" Equipment	RC-00020929 for PO-	MARTIN EQUIPMENT OF	Change Order: Additional work needed to complete original	1.00	\$4,285.50	\$4,285.50
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00007772 RC-00021112 for PO-	IOWA-ILLIONOIS INC Midwest Wheel Co	request. Werkbrau 130thumb and bottom mount 1500lb Aluminum crossover, single-lid, low profile toolbox to fit model	1.00	\$325.00	\$325.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00009972 RC-00021131 for PO-	Stivers Ford	year 2024 Ford F150 Supercab XL Mid-Size Extended Cab Pickup, Short Box per attached	1.00	\$38,909.83	\$38,909.83
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00007916 RC-00021139 for PO-	GREEN FAMILY	specifications Mid-Size Crew Cab 4x4 Pickup, Short Box per attached	3.00	\$47,356.24	\$142,068.72
Vehicles		00009819 RC-00021140 for PO-	CHEVROLET GREEN FAMILY	specifications	1.00	\$41,692.95	\$41,692.95
7010 - Self Propelled Vehicles	7010 "A" Equipment	00009832	CHEVROLET	Extended Cab Pickup, Short Box per attached specifications			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00021155 for PO- 00009836	GREEN FAMILY CHEVROLET	Crew Cab 3/4ton Pickup per attached specifications	1.00	\$49,603.29	\$49,603.29
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00021342 for PO- 00009972	Midwest Wheel Co	Aluminum crossover, single-lid, low profile toolbox to fit model year 2024 Ford F150 Supercab XL	6.00	\$325.00	\$1,950.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00021342 for PO- 00009972	Midwest Wheel Co	Aluminum crossover, single-lid, low profile toolbox to fit model year 2024 Chevrolet Silverado 1500 Extended Cab, short box	2.00	\$325.00	\$650.00
7010 - Self Propelled	7010 "A" Equipment	RC-00021354 for PO-	Murphy Tractor & Equipment	Compact Loader per attached specifications	1.00	\$123,891.00	\$123,891.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00009117 RC-00021379 for PO-	Co (Des Moines) Ascendance Truck Centers	International CV515 per the attached quote	1.00	\$67,715.00	\$67,715.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00011419 RC-00021379 for PO-	Ascendance Truck Centers	A36264Bet	1.00	\$7,754.00	\$7,754.00
Vehicles 7010 - Self Propelled		00011419			1,241.00	**,***	\$13,125,731.06
Vehicles Total						0	
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00013918 for PO- 00006026	STELLAR TRUCK & TRAILER	Tommy Gate G2-60-1342 TP27 Lift Gate and Mounting Kit, to Include Rear Camera and Sensor Bar as well as ECCO 501 97dB	1.00	\$2,497.02	\$2,497.02
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00013930 for PO- 00003878	STEW HANSENS DODGE CITY	Platform Body DOT Contract Number - 8233	1.00	\$15,000.00	\$15,000.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00013952 for PO- 00005926	ROADWAY SAFETY TECHNOLOG	Trailer Style Crash Attenuator NO ARROWBOARD STANCHION - per attached spec B073-0822	1.00	\$21,165.00	\$21,165.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00014012 for PO-	HORIZON SIGNAL	Horizon Signal Portable Traffic Signal SQ2 System	1.00	\$39,092.00	\$39,092.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00001130 RC-00014038 for PO-	TECHNOLOGIES INC Thomas Bus Sales Of IA	Midsota NFBT-BP-259 - Trailer, Deck Over per attached quote	2.00	\$32,360.00	\$64,720.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005959 RC-00014049 for PO-	Thomas Bus Sales Of IA	with spare tire and wheel Midsota NFBT-BP-259 - Trailer, Deck Over per attached quote	2.00	\$32,360.00	\$64,720.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005959 RC-00014051 for PO-	DITCH WITCH OF	with spare tire and wheel Sewer Vacuum, trailered - HX30A 800 gallon per attached quote	1.00	\$77,384.04	\$77,384.04
Trailers		00006661	MINNESOTA & IOWA INC	20197373			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014094 for PO- 00005959	Thomas Bus Sales Of IA	Midsota NFBT-BP-259 - Trailer, Deck Over per attached quote with spare tire and wheel	0.00	\$32,360.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014097 for PO- 00005959	Thomas Bus Sales Of IA	Midsota NFBT-BP-259 - Trailer, Deck Over per attached quote with spare tire and wheel	1.00	\$32,360.00	\$32,360.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014134 for PO- 00003962	ALERT WARNING SYSTEMS LLC	Alert Warning System Pro - Part Number AWS-PRO per attached estimate number 21-023	18.00	\$5,728.50	\$103,113.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00014151 for PO-	SCHULING HITCH	Plow, Light Duty per attached quote, to be installed on A36138	1.00	\$6,496.52	\$6,496.52
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00004036 RC-00014200 for PO-	COMPANY - AMES, IA Bobcat Company	2023 RAM 3500 4x4 SRW with platform body. Sweeper Bucket 60-inch - per attached quote TLJ-00872	1.00	\$4,885.09	\$4,885.09
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00004002 RC-00014214 for PO-	Bobcat Company	40" Planer, High Flow with Attachment Control, 7 Pin (R, M- and	1.00	\$30,762.37	\$30,762.37
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005831 RC-00014215 for PO-	Bobcat Company	M2-Series), 40" Planer, High Flow with Attachment Control,	1.00	\$30,762.37	\$30,762.37
Trailers		00005800		7 Pin (R, M- and M2-Series), and			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014475 for PO- 00005752	Bobcat Company	72" Sweeper Bucket with gutter broom kit per quote TLJ-01546v1 Sweeper Bucket 72" Part No 7405171	1.00	\$8,649.56	\$8,649.56
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014496 for PO- 00005594	Bobcat Company	Bobcat 80" Severe Duty Bucket with bolt-on cutting edge Per attached quote number MMB-02272	10.00	\$2,588.94	\$25,889.40
7020 - Road Equipment &	7020 "B" Equipment	RC-00014536 for PO- 00003699	O'HALLORAN INTERNATIONAL INC	Ice Blade	1.00	\$21,829.00	\$21,829.00
Trailers	<u> </u>	กกกากลล	INTERNATIONAL INC	Monroe Model - T00183895I			

				,			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014536 for PO- 00003699	O'HALLORAN INTERNATIONAL INC	Dump Body, 14-Foot Monroe Model - T00200402	1.00	\$35,353.00	\$35,353.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014536 for PO- 00003699	O'HALLORAN INTERNATIONAL INC	Heavy Duty Front Wing, Right Monroe Model - T00041331	1.00	\$14,315.00	\$14,315.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00014536 for PO-	O'HALLORAN	Zero Velocity Sander, Left	1.00	\$16,110.00	\$16,110.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00003699 RC-00014565 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011284-B Dump Body, 14-Foot	1.00	\$35,353.00	\$35,353.00
Trailers 7020 - Road Equipment &		00003701 RC-00014565 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00200402 Medium Duty Rear Wing, Dual	1.00	\$24,124.00	\$24.124.00
Trailers	7020 "B" Equipment	00003701	INTERNATIONAL INC	Monroe Model - T00203900			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014565 for PO- 00003701	O'HALLORAN INTERNATIONAL INC	Underbody Plow Monroe Model - T00203324	1.00	\$23,476.00	\$23,476.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014565 for PO- 00003701	O'HALLORAN INTERNATIONAL INC	Anti-Ice Tanks, Tandem Axle Monroe Model - T00201158	1.00	\$6,650.00	\$6,650.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00014565 for PO-	O'HALLORAN	Dual Sander w/Chutes	1.00	\$10,280.00	\$10,280.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00003701 RC-00014565 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011285-B Power Tarp	1.00	\$3,802.00	\$3,802.00
Trailers		00003701 RC-00014570 for PO-	INTERNATIONAL INC	Monroe Model - 11526-18 Trailer, Cargo - Tandem Axle per spec 1-B640-0323	1.00		
7020 - Road Equipment & Trailers	7020 "B" Equipment	00006108	Thomas Bus Sales Of IA	Sure Trac Pro Series Cargo Trailer		\$16,039.00	\$16,039.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014574 for PO- 00005632	THATSMYTRUCK.COM	Topper, Pickup - Commercial Series Aluminum Topper per specification number 4-B622-1-B008-0123, ITEM 1	3.00	\$4,106.00	\$12,318.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014596 for PO- 00006198	STAR EQUIPMENT LTD	Compressor, 185 CFM Trailered: Per specification 1-B092-1-B093- 0223: ITEM-1	1.00	\$30,300.00	\$30,300.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00014596 for PO-	STAR EQUIPMENT LTD	Compressor, 250 CFM Trailered: Per specification 1-B092-1-B093-	1.00	\$39,800.00	\$39,800.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00006198 RC-00014603 for PO-	O'HALLORAN	0223: ITEM-2 Dump Body, 14-Foot	1.00	\$23,785.00	\$23,785.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000233 RC-00014603 for PO-	INTERNATIONAL INC O'HALLORAN	Heavy Duty Front Wing, Right	1.00	\$11,993.00	\$11,993.00
Trailers		00000233	INTERNATIONAL INC				
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014603 for PO- 00000233	O'HALLORAN INTERNATIONAL INC	Underbody Plow	1.00	\$14,645.00	\$14,645.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014603 for PO- 00000233	O'HALLORAN INTERNATIONAL INC	Zero Velocity Spreader, Left	1.00	\$12,550.00	\$12,550.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014631 for PO- 00006978	Hancock Co Engineer	(USED) Rivinious Model R2500B Filler - edge rut machine	1.00	\$1,000.00	\$1,000.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00014639 for PO-	O'HALLORAN	Dump Body, 14-Foot	1.00	\$35,353.00	\$35,353.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00003700 RC-00014639 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00200402 Medium Duty Rear Wing, Dual	1.00	\$24,124.00	\$24,124.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00003700 RC-00014639 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00203900 Underbody Plow	1.00	\$23,476.00	\$23,476.00
Trailers		00003700	INTERNATIONAL INC	Monroe Model - T00203324			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014639 for PO- 00003700	O'HALLORAN INTERNATIONAL INC	Anti-Ice Tanks, Tandem Axle Monroe Model - T00201158	1.00	\$6,650.00	\$6,650.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014639 for PO- 00003700	O'HALLORAN INTERNATIONAL INC	Dual Sander w/Chutes Monroe Model - T00011285-B	1.00	\$10,280.00	\$10,280.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00014666 for PO-	THATSMYTRUCK.COM	Topper, Pickup - Aluminum Commercial Series Aluminum with	1.00	\$3,329.00	\$3,329.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005632 RC-00014666 for PO-	THATSMYTRUCK.COM	Rack per Specification number 4-B622-1-B008-0123. ITEM 2 Cargo Slide-Out per Specification 4-B622-1-B008-0123. ITEM3	1.00	\$2,950.00	\$2,950.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005632 RC-00014717 for PO-	O'HALLORAN	Per Quote 2685 Dump Body, 14-Foot	1.00	\$23,785.00	\$23,785.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000233 RC-00014717 for PO-	INTERNATIONAL INC O'HALLORAN	, ,	1.00	\$11.993.00	\$11,993.00
Trailers		00000233	INTERNATIONAL INC	Heavy Duty Front Wing, Right		, ,	
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014717 for PO- 00000233	O'HALLORAN INTERNATIONAL INC	Underbody Plow	1.00	\$14,645.00	\$14,645.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014717 for PO- 00000233	O'HALLORAN INTERNATIONAL INC	Dual Spreader w/Chutes	1.00	\$7,750.00	\$7,750.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00014734 for PO-	Bobcat Company	Bobcat 80" Severe Duty Bucket with bolt-on cutting edge	4.00	\$2,588.94	\$10,355.76
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005561 RC-00014735 for PO-	Bobcat Company	Per attached quote number MMB-02272 Bobcat 80" Severe Duty Bucket with bolt-on cutting edge	3.00	\$2,588.94	\$7,766.82
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005594 RC-00014736 for PO-	HIWAY TRUCK EQUIPMENT	Per attached quote number MMB-02272 Tailgate Mounted Cross Conveyor Spreader per attached spec: 5-	5.00	\$9,450.00	\$47,250.00
Trailers	7020 "B" Equipment	00005564 RC-00014775 for PO-	INC SCHULING HITCH	B205-0123 Adjustable "V" Snow Plow 6' for UTV - BobCat UV34: Per		\$4,797.00	\$4,797.00
7020 - Road Equipment & Trailers		00006891	COMPANY - AMES, IA	attached quote 10069626	1.00	, ,	
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014817 for PO- 00004598	SCHULTE INDUSTRIES LTD	Mower, Rotary Gang 10' - 540 RPM XH1000 SERIES 5 ROTARY CUTTER	4.00	\$41,563.23	\$166,252.92
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014842 for PO- 00005654	Murphy Tractor & Equipment Co (Des Moines)	Scrap Grapple Bucket per attached spec 2-B079-0223 See Quote # 28307373	2.00	\$15,740.00	\$31,480.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00014901 for PO-	Thomas Bus Sales Of IA	Trailer - Sure Trac ST8212TA-B-030 82" X 12' - per attached	2.00	\$2,613.00	\$5,226.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007459 RC-00014917 for PO-	SCHULTE INDUSTRIES LTD	quote. Mower, Rotary Gang 15' - 540 RPM	1.00	\$45,149.06	\$45,149.06
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00004598 RC-00014925 for PO-	SCHULTE INDUSTRIES LTD	XH1500 SERIES 5 ROTARY CUTTER Mower, Rotary Gang 15' - 540 RPM	3.00	\$45,149.06	\$135,447.18
Trailers 7020 - Road Equipment &		00004598 RC-00014940 for PO-		XH1500 SERIES 5 ROTARY CUTTER			\$135,447.18
Trailers	7020 "B" Equipment	00004598		XH1500 SERIES 5 ROTARY CUTTER	3.00	\$45,149.06	
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014949 for PO- 00004598	SCHULTE INDUSTRIES LTD	Mower, Rotary Gang 15' - 540 RPM XH1500 SERIES 5 ROTARY CUTTER	4.00	\$45,149.06	\$180,596.24
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00014952 for PO- 00007233	HAWKEYE TRUCK EQUIP CO	Utility Body, to include installation and options - per attached quote 25821	1.00	\$12,495.00	\$12,495.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00014953 for PO-	Thomas Bus Sales Of IA	Trailer - SURE TRAC 7K CAR HAULER 82" X 18' (16' FLAT + 2'	2.00	\$4,380.00	\$8,760.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007539 RC-00014963 for PO-	THATSMYTRUCK.COM	DOVETAIL) - Per attached Quote IA DOT ST81218CHWB Highway Products Surveyor Pack: Per attached quote No. 2695	2.00	\$10,005.71	\$20,011.42
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005670 RC-00014975 for PO-	Thomas Bus Sales Of IA	To include the following: Trailer, Tandem Axle - SURE TRAC ST8216TAT-B-070 82" X 16' -	1.00	\$4,208.00	\$4,208.00
Trailers		00007541 RC-00015047 for PO-		per attached quote			
7020 - Road Equipment & Trailers	7020 "B" Equipment	00007479	AND MFG LLC	Planer - Flatliner FL24 with Diamond Tools: per attached quote. For use on a 2023 Bobcat T770	2.00	\$54,550.00	\$109,100.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015049 for PO- 00007542	SHERWIN WILLIAMS (Ames)	Marker - Traffic Line LINELAZER 3400 1 Gun per attached quote # 6893011	2.00	\$5,397.00	\$10,794.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015129 for PO- 00005594	Bobcat Company	Bobcat 80" Severe Duty Bucket with bolt-on cutting edge Per attached quote number MMB-02272	3.00	\$2,588.94	\$7,766.82
7020 - Road Equipment &	7020 "B" Equipment	RC-00015142 for PO-	KIMCO	Conveyor Loading Hopper: (KH4TSS/MS) KIMCO KH4TSS 4-	1.00	\$13,791.33	\$13,791.33
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00006847 RC-00015185 for PO-	IOWA FARM EQUIPMENT	TON 304 STAINLESS STEEL HOPPER, WITH (KH4TVIB) Snow Blower, 3pt LD Farm Auger Type 1000 RPM - Per Spec 1-	1.00	\$17,450.00	\$17,450.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007407 RC-00015192 for PO-	Ziegler Inc	B525-AG-0623 TK120HDG Advantage Plus Hydraulic Detachable 120,000 lbs. in	1.00	\$131,503.20	\$131,503.20
Trailers	7020 "B" Equipment	00006231 RC-00015197 for PO-		16' per attached Sourcewell Quote No. TK-79569.02			
7020 Pacification 10		Inc00015197 for PO-	VAN-WALL EQUIPMENT	Tractor Loader attachment - Per attached quote ID: 29343644	1.00	\$15,074.60	\$15,074.60
7020 - Road Equipment & Trailers		00007455	INC				
	7020 "B" Equipment		INC DEERE & COMPANY	Tail Blade - 3pt (Frontier RB2410 - 10Ft. Heavy Plus Rear Blade with Hydraulic Cylinder kit, Angle-Offset-Tilt: Per attached quote	1.00	\$7,578.44	\$7,578.44

7020 - Road Equipment &	7020 "B" Equipment	RC-00015235 for PO-	THATSMYTRUCK.COM	Topper, Pickup - Commercial Series Aluminum Topper per	1.00	\$4,106.00	\$4,106.00
Trailers		00005632		specification number 4-B622-1-B008-0123, ITEM 1			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015359 for PO- 00005244	HORIZON SIGNAL TECHNOLOGIES INC	Portable Traffic Signal Systems - per specification: 10-B284-1122. Units bid must be crash tested	1.00	\$43,000.00	\$43,000.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015426 for PO- 00003578	MONROE TRUCK EQUIPMENT	12-foot Snow Pusher - Loader MTD: Per attached Spec 2-B505- 0822	2.00	\$8,974.00	\$17,948.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015427 for PO- 00005244	HORIZON SIGNAL TECHNOLOGIES INC	Portable Traffic Signal Systems - per specification: 10-B284-1122. Units bid must be crash tested	1.00	\$43,000.00	\$43,000.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00015429 for PO-	STEPP MANUFACTURING	Distributor, Bitumen Trailered 800 Gal - per specification No. 2-	1.00	\$72,102.00	\$72,102.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00004881 RC-00015429 for PO-	CO INC STEPP MANUFACTURING	B145-0123/quote STRD23-01 Distributor, Bitumen Trailered 1000 Gal - per specification No. 2-	1.00	\$74,556.00	\$74,556.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00004881 RC-00015464 for PO-	CO INC Thomas Bus Sales Of IA	B145-0123/quote STRD23-02 Trailer - Sure Trac ST8212TA-B-030 82" X 12' - per attached	2.00	\$2,613.00	\$5,226.00
Trailers	7020 "B" Equipment	00007459		quote.			
7020 - Road Equipment & Trailers		RC-00015499 for PO- 00005602	ALERT WARNING SYSTEMS LLC	AWS-PRO System: Alert Warning System PRO includes AWS Integrated Controller Complete,	11.00	\$6,236.75	\$68,604.25
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015508 for PO- 00005819	Future Line Truck Equip	Enclosed Utility Body: per attached specification 1-B042-0223	1.00	\$18,432.32	\$18,432.32
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015515 for PO- 00003774	MONROE TRUCK EQUIPMENT	Plow, Reversible 11', Per Attached Spec N0. 35-B508-6-B531- 0722	8.00	\$7,942.00	\$63,536.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00015518 for PO-	O'HALLORAN	Dump Body, 13-Foot	1.00	\$21,466.00	\$21,466.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000230 RC-00015518 for PO-	INTERNATIONAL INC O'HALLORAN	Heavy Duty Front Wing, Right	1.00	\$11,993.00	\$11,993.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000230 RC-00015518 for PO-	INTERNATIONAL INC O'HALLORAN	Underbody Plow	1.00	\$14,645.00	\$14,645.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000230 RC-00015518 for PO-	INTERNATIONAL INC	Dual Spreader w/Chutes	1.00	\$7,750.00	\$7,750.00
Trailers		00000230	INTERNATIONAL INC				
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015547 for PO- 00003641	O'HALLORAN INTERNATIONAL INC	Dump Body, 14-Foot Monroe Model - T00200402	1.00	\$35,353.00	\$35,353.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015547 for PO- 00003641	O'HALLORAN INTERNATIONAL INC	Medium Duty Rear Wing, Left Monroe Model - T00011302	1.00	\$12,062.00	\$12,062.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015547 for PO- 00003641	O'HALLORAN INTERNATIONAL INC	Underbody Plow Monroe Model - T00203324	1.00	\$23,476.00	\$23,476.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00015547 for PO-	O'HALLORAN	Zero Velocity Sander, Right	1.00	\$16,214.00	\$16,214.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00003641 RC-00015562 for PO-	INTERNATIONAL INC MONROE TRUCK	Monroe Model - T00041983-B Plow, Reversible 11', Per Attached Spec N0. 35-B508-6-B531-	7.00	\$7,942.00	\$55,594.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00003774 RC-00015584 for PO-	EQUIPMENT Murphy Tractor & Equipment	0722 JD 42" HD Trenching Bucket	2.00	\$5,721.00	\$11,442.00
Trailers		00006646	Co (Des Moines)	per quote #09653423			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015584 for PO- 00006646	Co (Des Moines)	Rockland 60TL 60" Tilting Ditching Bucket per quote #09653423	2.00	\$16,569.73	\$33,139.46
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015606 for PO- 00003774	MONROE TRUCK EQUIPMENT	Plow, Funnel Reversible 11', Per Attached Spec N0. 35-B508-6-B531-0722	6.00	\$9,227.00	\$55,362.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015606 for PO- 00003774	MONROE TRUCK EQUIPMENT	Plow, Reversible 11', Per Attached Spec N0. 35-B508-6-B531- 0722	1.00	\$7,942.00	\$7,942.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00015625 for PO-	Bobcat Company	Bobcat 80" Severe Duty Bucket with bolt-on cutting edge	2.00	\$2,588.94	\$5,177.88
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005594 RC-00015626 for PO-	Bobcat Company	Per attached quote number MMB-02272 Bobcat 80" Severe Duty Bucket with bolt-on cutting edge	3.00	\$2,588.94	\$7,766.82
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005561 RC-00015631 for PO-	MONROE TRUCK	Per attached quote number MMB-02272 Plow, Reversible 11', Per Attached Spec N0. 35-B508-6-B531-	8.00	\$7,942.00	\$63,536.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00003774 RC-00015633 for PO-	EQUIPMENT Signalisation Ver-Mac Inc	0722 4' X 8" LED Arrow Board with Wireless Controller and Solar Kit (6.00	\$4,500.00	\$27,000.00
Trailers		00007449	(Inactive)	VM-4825C IOWA SOLAR)- per contract 2023-8342			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015670 for PO- 00007634	Bobcat of Ames	Planer - 18" Planer, High Flow - M7018, w drum M7018-R01-C10 - per attached quote: NS60393	4.00	\$18,118.97	\$72,475.88
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015674 for PO- 00007257	ROADWAY SAFETY TECHNOLOG	Trailer Style Crash Attenuator WITH ARROWBOARD STANCHION - per contract 8232	8.00	\$21,165.00	\$169,320.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015677 for PO- 00007406	FAIR MANUFACTURING INC	Snow Blower, 3pt MD Twin Fan Type 1000 RPM PTO - Per Specification No. 1-B525-ROT-0623	1.00	\$24,387.00	\$24,387.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00015679 for PO-	SIDE DUMP INDUSTRIES	Trailer - Side Dump	1.00	\$42,968.50	\$42,968.50
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007475 RC-00015682 for PO-	LLC O'HALLORAN	Dump Body, 13-Foot	1.00	\$21,466.00	\$21,466.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000227 RC-00015682 for PO-	INTERNATIONAL INC O'HALLORAN	Medium Duty Rear Wing, Right	1.00	\$10.685.00	\$10.685.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000227 RC-00015682 for PO-	INTERNATIONAL INC	Underbody Plow	1.00	\$14,645.00	\$14,645.00
Trailers		00000227	INTERNATIONAL INC	·			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015682 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Anti-Ice Tandem	1.00	\$4,605.00	\$4,605.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015682 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Dual Spreader w/Chutes	1.00	\$7,750.00	\$7,750.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015683 for PO- 00003774	MONROE TRUCK EQUIPMENT	Plow, Reversible 11', Per Attached Spec N0. 35-B508-6-B531- 0722	10.00	\$7,942.00	\$79,420.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00015715 for PO-	HORIZON SIGNAL	Portable Traffic Signal Systems - per specification: 10-B284-1122.	1.00	\$43,000.00	\$43,000.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005244 RC-00015752 for PO-	TECHNOLOGIES INC O'HALLORAN	Units bid must be crash tested Dump Body, 13-Foot	1.00	\$21,466.00	\$21,466.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000227 RC-00015752 for PO-	INTERNATIONAL INC O'HALLORAN	Medium Duty Rear Wing, Left	1.00	\$10,685.00	\$10,685.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000227 RC-00015752 for PO-	INTERNATIONAL INC	Underbody Plow	1.00	\$14,645.00	\$14,645.00
Trailers		00000227	INTERNATIONAL INC				
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015752 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Anti-Ice Tandem	1.00	\$4,605.00	\$4,605.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015752 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Dual Spreader w/Chutes	1.00	\$7,750.00	\$7,750.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015756 for PO- 00006033	TRAIL-EZE INC	Trailer, Semi - Single Drop With Folding Neck: Per attached specification: 1-B649-0223	1.00	\$120,340.00	\$120,340.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00015757 for PO-	KEYSTONE ENGINEERING	Planer - Flatliner FL24 with Diamond Tools: per attached quote.	1.00	\$54,550.00	\$54,550.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007480 RC-00015765 for PO-	AND MFG LLC HORIZON SIGNAL	For use on a 2023 Bobcat T770 Portable Traffic Signal Systems - per specification: 10-B284-1122.	1.00	\$43,000.00	\$43,000.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005244 RC-00015818 for PO-	TECHNOLOGIES INC O'HALLORAN	Units bid must be crash tested Dump Body, 13-Foot	1.00	\$21,466.00	\$21,466.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000227 RC-00015818 for PO-	INTERNATIONAL INC	Medium Duty Rear Wing, Right	1.00	\$10,685.00	\$10,685.00
Trailers		00000227	INTERNATIONAL INC				
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015818 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Underbody Plow	1.00	\$14,645.00	\$14,645.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015818 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Dual Spreader w/Chutes	1.00	\$7,750.00	\$7,750.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015821 for PO- 00000231	O'HALLORAN INTERNATIONAL INC	Dump Body, 13-Foot	1.00	\$21,466.00	\$21,466.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00015821 for PO-	O'HALLORAN	Heavy Duty Front Wing, Right	1.00	\$11,993.00	\$11,993.00
Trailers		00000231	INTERNATIONAL INC				

7000 David Familians and 8	ZOOO HDH Ei	RC-00015821 for PO-	O'HALLORAN	Hadashadi Dlavi	1.00	\$44.64F.00	\$44.64F.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	00000231	INTERNATIONAL INC	Underbody Plow	1.00	\$14,645.00	\$14,645.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015821 for PO- 00000231	O'HALLORAN INTERNATIONAL INC	Anti-Ice Tandem Axle	1.00	\$4,605.00	\$4,605.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015821 for PO- 00000231	O'HALLORAN INTERNATIONAL INC	Dual Spreader w/Chutes	1.00	\$7,750.00	\$7,750.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00015832 for PO-	O'HALLORAN	Ice Blade	1.00	\$17,565.00	\$17,565.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000231 RC-00015832 for PO-	INTERNATIONAL INC O'HALLORAN	Dump Body, 13-Foot	1.00	\$21,466.00	\$21,466.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000231 RC-00015832 for PO-	INTERNATIONAL INC	Heavy Duty Benching Wing, Right	1.00	\$19,325.00	\$19,325.00
Trailers		00000231	INTERNATIONAL INC				
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015832 for PO- 00000231	O'HALLORAN INTERNATIONAL INC	Dual Spreader w/Chutes	1.00	\$7,750.00	\$7,750.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015853 for PO- 00005561	Bobcat Company	Bobcat 4K Heavy Duty Pallet Forks Per attached Quote	8.00	\$873.36	\$6,986.88
7020 - Road Equipment &	7020 "B" Equipment	RC-00015853 for PO-	Bobcat Company	Bobcat 80" Severe Duty Bucket with long Bolt-On tooth kit	1.00	\$2,722.84	\$2,722.84
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005561 RC-00015854 for PO-	Bobcat Company	Per attached quote Bobcat 84" Angle Broom	1.00	\$7,066.04	\$7,066.04
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005594 RC-00015854 for PO-		Per attached quote Bobcat 4K Heavy Duty Pallet Forks	19.00	\$873.36	\$16,593.84
Trailers		00005594	Bobcat Company	Per attached Quote		·	
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015857 for PO- 00000231	O'HALLORAN INTERNATIONAL INC	Dump Body, 13-Foot	2.00	\$21,466.00	\$42,932.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015879 for PO- 00007643	STAR EQUIPMENT LTD	Asphalt Patcher - Per attached Specification: 6-B307-0823	6.00	\$71,899.00	\$431,394.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00015911 for PO-	K & K Systems Inc	Signal, Arrow Board - 4'X8' LED w/Wireless Controller PART#	13.00	\$1,900.00	\$24,700.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007622 RC-00015920 for PO-	O'HALLORAN	AV254896 Dump Body, 14-Foot	1.00	\$35,353.00	\$35,353.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00003696 RC-00015920 for PO-	INTERNATIONAL INC	Monroe Model - T00200403 Underbody Plow	1.00	\$23,476.00	\$23,476.00
Trailers		00003696	INTERNATIONAL INC	Monroe Model - T00203324			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015920 for PO- 00003696	O'HALLORAN INTERNATIONAL INC	Anti-Ice Tanks, Tandem Axle Monroe Model - T00201158	1.00	\$6,650.00	\$6,650.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00015920 for PO- 00003696	O'HALLORAN INTERNATIONAL INC	Dual Sander w/Chutes Monroe Model - T00011285-B	1.00	\$10,280.00	\$10,280.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00015943 for PO-	MONROE TRUCK	Plow, Reversible 11', Per Attached Spec N0. 35-B508-6-B531-	1.00	\$7,942.00	\$7,942.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00003774 RC-00015953 for PO-	EQUIPMENT STUART TANK SALES	0722 Trailer, Semi Tanker USED with 2 baffle kits installed - per	1.00	\$20,000.00	\$20,000.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007651 RC-00016003 for PO-	CORP Thomas Bus Sales Of IA	attached sales order Trailer, Landscape - BIG TEX 10LR-20 PRO SERIES	2.00	\$9,471.00	\$18,942.00
Trailers		00007534		LANDSCAPE TRAILER 83" X 20' - per attached quote		, ,	
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016004 for PO- 00007538	Thomas Bus Sales Of IA	Trailer, Midsota NFBT-BP-259 - Trailer, Deck Over per attached quote	2.00	\$32,360.00	\$64,720.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016008 for PO- 00005594	Bobcat Company	Bobcat 82" Root Grapple Bucket Per attached quote	13.00	\$4,972.74	\$64,645.62
7020 - Road Equipment &	7020 "B" Equipment	RC-00016009 for PO-	Bobcat Company	Bobcat 82" Root Grapple Bucket	7.00	\$4,921.34	\$34,449.38
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005561 RC-00016097 for PO-	FALCON ROAD	Per attached quote 4-Ton Asphalt Recycler & Hot Box Trailer with dump box	1.00	\$37,311.00	\$37,311.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007533 RC-00016097 for PO-	MAINTENANCE FALCON ROAD	(MI10257) with diesel burner - per attached quote No. 08152023- 4-Ton Asphalt Recycler & Hot Box Trailer (MI10257) with diesel	1.00	\$31,648.00	\$31,648.00
Trailers		00007533	MAINTENANCE	burner - per attached quote			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016097 for PO- 00007533	FALCON ROAD MAINTENANCE	4-Ton Asphalt Recycler & Hot Box Trailer (MI10257) with Propane burner - per attached quote	2.00	\$31,648.00	\$63,296.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016097 for PO- 00007533	FALCON ROAD MAINTENANCE	2-Ton Asphalt Recycler & Hot Box Trailer (MI10257) with diesel burner - per attached quote	2.00	\$24,849.00	\$49,698.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00016098 for PO-	KERMIT MISKELL & SONS	Mower, Disc - 7' - 3 point hitch, per attached specification: 1-B377-	1.00	\$15,200.00	\$15,200.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007854 RC-00016100 for PO-	LTD Thomas Bus Sales Of IA	0923 Trailer, Midsota TBHD-22 - Skid Loader, 16' tilt with 6' stationary	1.00	\$23,662.00	\$23,662.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007770 RC-00016101 for PO-	Thomas Bus Sales Of IA	deck w/7-way RV style light plug - per attached quote Trailer, Midsota NFBT-BP-259 - Trailer, Deck Over per attached	1.00	\$32,360.00	\$32,360.00
Trailers		00007538		quote			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016102 for PO- 00005244	HORIZON SIGNAL TECHNOLOGIES INC	Portable Traffic Signal Systems - per specification: 10-B284-1122. Units bid must be crash tested	1.00	\$43,000.00	\$43,000.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016145 for PO- 00007533	FALCON ROAD MAINTENANCE	2-Ton Asphalt Recycler & Hot Box Trailer (MI10257) with Propane burner - per attached quote	2.00	\$24,849.00	\$49,698.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00016147 for PO-	Ziegler Inc	Portable Light Tower - Allmand Night Lite Pro II Series with a	1.00	\$17,625.00	\$17,625.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007629 RC-00016176 for PO-	STEPP MANUFACTURING	Caterpillar 1.1L engine and LED lights - Per attached quote Bituminous emulsion heating trailer Kettle, Bitumen 400 Gal -	1.00	\$31,972.00	\$31,972.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005202 RC-00016213 for PO-	CO INC Bobcat Company	per spec 1-B280-0123 and quote SMT23-01 Bobcat 18" Planer, high flow w/fastcut drum	4.00	\$18,118.88	\$72,475.52
Trailers		00005594		Per attached quote			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016225 for PO- 00007257	ROADWAY SAFETY TECHNOLOG	Trailer Style Crash Attenuator WITH ARROWBOARD STANCHION - per contract 8232	3.00	\$21,165.00	\$63,495.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016226 for PO- 00007534	Thomas Bus Sales Of IA	Trailer, Landscape - BIG TEX 10LR-20 PRO SERIES LANDSCAPE TRAILER 83" X 20' - per attached quote	2.00	\$9,471.00	\$18,942.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016251 for PO- 00007770	Thomas Bus Sales Of IA	Trailer, Midsota NFBT-BP-259 -Trailer, Deck Over - per attached quote	1.00	\$32,360.00	\$32,360.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00016263 for PO-	Thomas Bus Sales Of IA	Trailer, Midsota NFBT-BP-259 - Trailer, Deck Over per attached	1.00	\$32,360.00	\$32,360.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007538 RC-00016284 for PO-	O'HALLORAN	quote Dump Body, 11-Foot	1.00	\$15,782.00	\$15,782.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000219 RC-00016284 for PO-	INTERNATIONAL INC	Medium Duty Rear Wing, Right	1.00	\$11,499.00	\$11,499.00
Trailers		00000219	INTERNATIONAL INC				
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016284 for PO- 00000219	O'HALLORAN INTERNATIONAL INC	Underbody Plow	1.00	\$12,534.00	\$12,534.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016284 for PO- 00000219	O'HALLORAN INTERNATIONAL INC	Anti-Ice Single Axle	1.00	\$3,111.00	\$3,111.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00016284 for PO-	O'HALLORAN	Dual Sander w/Chutes	1.00	\$9,326.00	\$9,326.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000219 RC-00016337 for PO-	INTERNATIONAL INC EXPROLINK INC	Litter Vacuum - MADVAC LP61-G with options, per attached	1.00	\$27,016.00	\$27,016.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007621 RC-00016377 for PO-	Thomas Bus Sales Of IA	quote Trailer, Landscape - BIG TEX 10LR-20 PRO SERIES	4.00	\$9,471.00	\$37,884.00
Trailers		00007534		LANDSCAPE TRAILER 83" X 20' - per attached quote			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016425 for PO- 00005244	HORIZON SIGNAL TECHNOLOGIES INC	Portable Traffic Signal Systems - per specification: 10-B284-1122. Units bid must be crash tested	1.00	\$43,000.00	\$43,000.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016487 for PO- 00008198	STAR EQUIPMENT LTD	Concrete Saw per attached Specification 2-B102-1023	2.00	\$32,918.00	\$65,836.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00016525 for PO-	Bobcat Company	Bobcat 80" Severe Duty Bucket with bolt-on cutting edge	1.00	\$2,588.94	\$2,588.94
Trailers 7020 - Road Equipment &	I	00005561	Dahaat Campanii	Per attached quote number MMB-02272 Bobcat 80" Severe Duty Bucket with bolt-on cutting edge	1.00	\$2,588.94	\$2,588.94
7 020 Ttoda Equipinont a	7020 "B" Equipment	RC-00016527 for PO-	Bobcat Company		1.00	ΨΞ,000.01	ΨΞ,000.01
Trailers 7020 - Road Equipment &	7020 "B" Equipment 7020 "B" Equipment	RC-00016527 for PO- 00005594 RC-00016577 for PO-	Thomas Bus Sales Of IA	Per attached quote number MMB-02272 Trailer, Landscape - BIG TEX 10LR-20 PRO SERIES	1.00	\$9,471.00	\$9,471.00

7020 - Road Equipment &	7020 "B" Equipment	RC-00016578 for PO-	ALERT WARNING	AWS-PRO System: Alert Warning System PRO includes AWS	11.00	\$6,236.75	\$68,604.25
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005602 RC-00016611 for PO-	SYSTEMS LLC THATSMYTRUCK.COM	Integrated Controller Complete, Roll Cover - Access Cover per attached quote # 3043	2.00	\$474.00	\$948.00
Trailers		00008665		·		·	•
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016657 for PO- 00007993	INDI ENTERPRISE INC	DR PRO 26 Field and Brush Mower per Spec No. 2-B388-0923	2.00	\$3,539.89	\$7,079.78
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016664 for PO- 00005561	Bobcat Company	Bobcat HB980 Hydraulic Breaker per attached quote	1.00	\$9,916.32	\$9,916.32
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016665 for PO- 00005594	Bobcat Company	Bobcat HB1180 Hydraulic Breaker Per attached quote	10.00	\$12,753.76	\$127,537.60
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016707 for PO- 00008331	DIAMOND MOWERS LLC	Mower - 60" Skid Steer Brush Cutter Pro X - Diamond DLR060 - per attached quote 00043984 line item 2	1.00	\$13,016.00	\$13,016.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00016707 for PO-	DIAMOND MOWERS LLC	Stump Cutter - 26" Skid-Steer Miler Stump Grinder Diamond	1.00	\$17,296.00	\$17,296.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00008331 RC-00016709 for PO-	HORIZON SIGNAL	DMG026 - per attached quote 00043984 line item 3 Portable Traffic Signal Systems - per specification: 10-B284-1122.	1.00	\$43,000.00	\$43,000.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005244 RC-00016736 for PO-	TECHNOLOGIES INC Varitech Industries	Units bid must be crash tested Anti-Ice Trailer - 2600 Gal, per spec 15-B574-0722 ITEM-1	1.00	\$48,900.00	\$48,900.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00004112 RC-00016775 for PO-	HORIZON SIGNAL	Portable Traffic Signal Systems - per specification: 10-B284-1122.	1.00	\$43,000.00	\$43,000.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005244 RC-00016793 for PO-	TECHNOLOGIES INC TRUEMAN WELTERS INC	Units bid must be crash tested	1.00	\$16,301.00	\$16,301.00
Trailers		00008437		Chipper, Brush - 3pt mounted 540 RPM - per spec 1-B076-1023			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016797 for PO- 00008852	ROADWAY SAFETY TECHNOLOG	Trailer Style Crash Attenuator with ballast weights per contract 8232	1.00	\$21,165.00	\$21,165.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016823 for PO- 00007784	THATSMYTRUCK.COM	Topper, Pickup - Aluminum Commercial Topper per attached quote # 2948	1.00	\$3,178.00	\$3,178.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016823 for PO- 00007784	THATSMYTRUCK.COM	Bed Slide - 1000lb - Cargo Glide - CG1000-9548 - Per attached quote #2948	1.00	\$1,555.00	\$1,555.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00016827 for PO- 00008186	ROADWAY SAFETY TECHNOLOG	Trailer Style Crash Attenuator WITH ARROWBOARD	8.00	\$21,165.00	\$169,320.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00016848 for PO-	Varitech Industries	STANCHION - per contract 8232 Anti-Ice Trailer - 2600 Gal, per spec 15-B574-0722 ITEM-1	2.00	\$48,900.00	\$97,800.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00004112 RC-00016877 for PO-	ROADWAY SAFETY	Trailer Style Crash Attenuator WITH ARROWBOARD	8.00	\$21,165.00	\$169,320.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00008186 RC-00017069 for PO-	TECHNOLOG ASPEN AERIALS INC	STANCHION - per contract 8232 20 year rebuild to Aspen Aerials A40 unit, S/N 10083	1.00	\$360,144.00	\$360,144.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00006699 RC-00017072 for PO-	STELLAR TRUCK &	To include the following items: Utility Body - Knapheide Service Body Model 696-2 with	1.00	\$16,085.50	\$16,085.50
Trailers		00008314	TRAILER	telescoping lid and rear bumper (installed on truck) - per attached			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017093 for PO- 00008413	DEERE & COMPANY	Tractor Loader attachment - Per attached quote ID: 29343644	1.00	\$15,074.60	\$15,074.60
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017108 for PO- 00008331	DIAMOND MOWERS LLC	Mower - 40" Excavator Rotary Mower - Diamond DER040-C - Per attached quote 00043984 Line item 1	1.00	\$9,446.00	\$9,446.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017153 for PO- 00008404	M-B Companies Inc Of Wi	Broom, Truck Mounted per spec 1-B072-1023 and quote number 33059	1.00	\$13,162.00	\$13,162.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00017340 for PO- 00008186	ROADWAY SAFETY TECHNOLOG	Trailer Style Crash Attenuator WITH ARROWBOARD STANCHION - per contract 8232	8.00	\$21,165.00	\$169,320.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	RC-00017344 for PO-	Varitech Industries	Anti-Ice Trailer - 2600 Gal, per spec 15-B574-0722 ITEM-1	2.00	\$48,900.00	\$97,800.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00004112 RC-00017403 for PO-	STUART TANK SALES	Trailer, Semi Tanker USED with 2 baffle kits installed, rear	1.00	\$24,000.00	\$24,000.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00008672 RC-00017454 for PO-	CORP TIGER MOWERS LLC	manhole and outlet piping - per attached sales order Mower, Flail - 3pt. 102-inches with side shift to the left: Per	1.00	\$20,666.46	\$20,666.46
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007544 RC-00017490 for PO-	MONROE TRUCK	attached quote # 8/25/23AF Tailgate Mounted Cross Conveyor Spreader per attached spec: 3-	3.00	\$9,257.00	\$27,771.00
Trailers		00008700	EQUIPMENT	B205-1023			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017570 for PO- 00008176	Co (Des Moines)	Bucket, Grapple - Per specification 1-B079-1023	1.00	\$16,140.00	\$16,140.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017574 for PO- 00004859	IOWA TRUCK AND TRAILER	45-Foot Semi Van Trailer with side liftgate and rear liftgate - per spec 1-B660-2-B293-1222 and quote #: 113022 from Iowa Truck	1.00	\$90,681.37	\$90,681.37
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017574 for PO- 00004859	IOWA TRUCK AND TRAILER	Liftgate - side slide out style - per spec 1-B660-2-B293-1222 and quote #113022 from Iowa Truck Trailer	1.00	\$27,923.40	\$27,923.40
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017574 for PO- 00004859	IOWA TRUCK AND TRAILER	Liftgate - rear mounted tuck under or slide away style per spec 1- B660-2-B293-1222 and Quote # 113022 from Iowa Truck	1.00	\$26,527.23	\$26,527.23
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017586 for PO- 00005594	Bobcat Company	Bobcat Sweeper Bucket 84" w/gutter brush kit Per attached quote	2.00	\$8,651.40	\$17,302.80
7020 - Road Equipment &	7020 "B" Equipment	RC-00017655 for PO-	ROADWAY SAFETY	Trailer Style Crash Attenuator WITH ARROWBOARD	8.00	\$21,165.00	\$169,320.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00008186 RC-00017714 for PO-	TECHNOLOG HORIZON SIGNAL	STANCHION - per contract 8232 Portable Traffic Signal Systems - per specification: 10-B284-1122.	1.00	\$43,000.00	\$43,000.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005244 RC-00017726 for PO-	TECHNOLOGIES INC O'HALLORAN	Units bid must be crash tested Dump Body, 10-Foot	1.00	\$17,104.00	\$17,104.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000241 RC-00017726 for PO-	INTERNATIONAL INC O'HALLORAN	Medium Duty Rear Wing, Right	1.00	\$10,648.00	\$10,648.00
Trailers	7020 "B" Equipment	00000241 RC-00017726 for PO-	INTERNATIONAL INC				
7020 - Road Equipment & Trailers		00000241	INTERNATIONAL INC	Underbody Plow	1.00	\$17,477.00	\$17,477.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017726 for PO- 00000241	O'HALLORAN INTERNATIONAL INC	Anti-Ice tanks, Single Axle	1.00	\$3,218.00	\$3,218.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017726 for PO- 00000241	O'HALLORAN INTERNATIONAL INC	Zero Velocity Spreader, Left	1.00	\$12,550.00	\$12,550.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017726 for PO- 00000241	O'HALLORAN INTERNATIONAL INC	Manual Tarp	1.00	\$2,569.00	\$2,569.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017727 for PO- 00008747	Iowa Plains Signing	Radar Speed Trailer per attached specification 2-B499-1023	2.00	\$12,760.00	\$25,520.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00017728 for PO-	O'HALLORAN	Dump Body, 14-Foot	1.00	\$35,353.00	\$35,353.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00003617 RC-00017728 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00200402 Medium Duty Rear Wing, Dual	1.00	\$24,124.00	\$24,124.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00003617 RC-00017728 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00203900 Underbody Plow	1.00	\$23,476.00	\$23,476.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00003617 RC-00017728 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00203324 Anti-Ice Tanks, Tandem Axle	1.00	\$6,650.00	\$6,650.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00003617 RC-00017728 for PO-	INTERNATIONAL INC	Monroe Model - T00201158 Dual Sander w/Chutes	1.00	\$10,280.00	\$10,280.00
Trailers		00003617	INTERNATIONAL INC	Monroe Model - T00011285-B			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017728 for PO- 00003617	O'HALLORAN INTERNATIONAL INC	Power Tarp Monroe Model - 11526-18	1.00	\$3,802.00	\$3,802.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017774 for PO- 00005594	Bobcat Company	Bobcat 18" Planer, high flow w/fastcut drum Per attached quote	2.00	\$18,118.88	\$36,237.76
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017775 for PO- 00005561	Bobcat Company	Bobcat 18" Planer, high flow w/fastcut drum Per attached quote	1.00	\$18,118.88	\$18,118.88
7020 - Road Equipment &	7020 "B" Equipment	RC-00017786 for PO-	Bobcat Company	Bucket, Scrap Grapple - 80-inch Industrial Bucket Grapple - per	1.00	\$4,815.92	\$4,815.92
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00008508 RC-00017786 for PO-	Bobcat Company	attached quote number: NS174613 Pallet Forks - 4K Heavy duty Pallet Fork Frame w 48-inch Heavy	1.00	\$980.88	\$980.88
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00008508 RC-00017786 for PO-	Bobcat Company	Duty pallet fork teeth - per attached quote number: NS174605 Broom - 84-inch Angle Broom - per attached quote number:	1.00	\$7,066.04	\$7,066.04
Trailers		00008508		NS174548		\$1,000.04	ψ.,000.04

7020 - Road Equipment &	7020 "B" Equipment	RC-00017786 for PO-	Bobcat Company	Breaker, Pavement - NB160 Nitrogen Breaker with Nail Point - per	3.00	\$7,755.48	\$23,266.44
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00008508 RC-00017815 for PO-	SHERWIN WILLIAMS	attached quote number: NS174590 Compressor, 250 CFM Trailered: Per specification 6-B092-2-B093-	0.00	\$39,500.00	\$0.00
Trailers		00008124	(Ames)	0923: ITEM-2			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017815 for PO- 00008124	SHERWIN WILLIAMS (Ames)	Compressor, 185 CFM Trailered: Per specification 6-B092-2-B093- 0923: ITEM-1	0.00	\$29,300.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017817 for PO- 00008124	SHERWIN WILLIAMS (Ames)	Compressor, 185 CFM Trailered: Per specification 6-B092-2-B093- 0923: ITEM-1	4.00	\$29,300.00	\$117,200.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017822 for PO- 00008124	SHERWIN WILLIAMS (Ames)	Compressor, 250 CFM Trailered: Per specification 6-B092-2-B093- 0923: ITEM-2	2.00	\$39,500.00	\$79,000.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00017822 for PO- 00008124	SHERWIN WILLIAMS (Ames)	Compressor, 185 CFM Trailered: Per specification 6-B092-2-B093- 0923: ITEM-1	6.00	\$29,300.00	\$175,800.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00017852 for PO-	HORIZON SIGNAL	Portable Traffic Signal Systems - per specification: 10-B284-1122.	1.00	\$43,000.00	\$43,000.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005244 RC-00018174 for PO-	TECHNOLOGIES INC CAPITAL CITY EQUIPMENT	Units bid must be crash tested Tree Puller (AP-STP25 with Push Bar Assy, per attached DAS MA	1.00	\$2,578.75	\$2,578.75
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00008716 RC-00018440 for PO-	O'HALLORAN	quote # 5527 Reading Steel Service Body per Hawkeye Quote 25537	1.00	\$19,551.00	\$19,551.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00006035 RC-00018533 for PO-	INTERNATIONAL INC HORIZON SIGNAL	Portable Traffic Signal Systems: per spec 10-B284-1122	1.00	\$43,000.00	\$43,000.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005504 RC-00018535 for PO-	TECHNOLOGIES INC MONROE TRUCK	Snow Truck Dump Body Wedge Tank Kits - Tandem Axle Truck	13.00	\$3,985.00	\$51,805.00
Trailers		00007986	EQUIPMENT	per spec 1-SGL-13-TDM-B569-0623 - ITEM 2			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00018535 for PO- 00007986	MONROE TRUCK EQUIPMENT	Snow Truck Dump Body Wedge Tank Kits - Single Axle Truck: per spec 1-SGL-13-TDM-B569-0822 - ITEM 1	1.00	\$2,823.00	\$2,823.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00018547 for PO- 00008194	LAMCO SLINGS & RIGGING INC	Crane, Electric Jib Boom - Per specification 2-B111-1023	2.00	\$3,663.78	\$7,327.56
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00018581 for PO- 00008703	MARTIN EQUIPMENT OF IA- IL INC	Bucket, Cleanup Grapple -Side Clamp Type (Rockland Cleanup Grapple) - Per attached Specification 1-B079-1023	1.00	\$19,400.00	\$19,400.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00018622 for PO- 00008186	ROADWAY SAFETY TECHNOLOG	Trailer Style Crash Attenuator WITH ARROWBOARD STANCHION - per contract 8232	8.00	\$21,165.00	\$169,320.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00018760 for PO-	ROADWAY SAFETY	Trailer Style Crash Attenuator WITH ARROWBOARD	6.00	\$21,165.00	\$126,990.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00008186 RC-00018807 for PO-	TECHNOLOG HORIZON SIGNAL	STANCHION - per contract 8232 Portable Traffic Signal Systems: per spec 10-B284-1122	1.00	\$43,000.00	\$43,000.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00005504 RC-00018842 for PO-	TECHNOLOGIES INC O'HALLORAN	Dump Body, 13-Foot	1.00	\$21,466.00	\$21,466.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000227 RC-00018842 for PO-	INTERNATIONAL INC O'HALLORAN	Medium Duty Rear Wing, Left	1.00	\$10,685.00	\$10,685.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000227 RC-00018842 for PO-	INTERNATIONAL INC O'HALLORAN	Underbody Plow	1.00	\$14,645.00	\$14,645.00
Trailers		00000227	INTERNATIONAL INC	-			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00018842 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Dual Spreader w/Chutes	1.00	\$7,750.00	\$7,750.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00018849 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Power Tarp	1.00	\$3,595.00	\$3,595.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00018849 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Dump Body, 13-Foot	1.00	\$21,466.00	\$21,466.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00018849 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Medium Duty Rear Wing, Left	1.00	\$10,685.00	\$10,685.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00018849 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Underbody Plow	1.00	\$14,645.00	\$14,645.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00018849 for PO-	O'HALLORAN	Anti-Ice Tandem	1.00	\$4,605.00	\$4,605.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000227 RC-00018849 for PO-	INTERNATIONAL INC O'HALLORAN	Dual Spreader w/Chutes	1.00	\$7,750.00	\$7,750.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000227 RC-00018887 for PO-	INTERNATIONAL INC VAN-WALL EQUIPMENT	Weed Sprayer - Per attached Spec. No. 1-B570-0224	1.00	\$1,899.03	\$1,899.03
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00009687 RC-00018897 for PO-	INC Equipment Development Co	Traffic Line Remover (EDCO CPM-8G 8" CRETE-PLANER,	1.00	\$6,631.73	\$6,631.73
Trailers		00007625	Inc	GX270 - per attached quote # 006013-00			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00019071 for PO- 00005504	HORIZON SIGNAL TECHNOLOGIES INC	Portable Traffic Signal Systems: per spec 10-B284-1122	1.00	\$43,000.00	\$43,000.00
Trailers	7020 "B" Equipment	RC-00019072 for PO- 00005504	HORIZON SIGNAL TECHNOLOGIES INC	Portable Traffic Signal Systems: per spec 10-B284-1122	0.00	\$43,000.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00019237 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Power Tarp	1.00	\$3,595.00	\$3,595.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00019237 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Dump Body, 13-Foot	1.00	\$21,466.00	\$21,466.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00019237 for PO- 00000227	O'HALLORAN INTERNATIONAL INC	Medium Duty Rear Wing, Right	1.00	\$10,685.00	\$10,685.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00019237 for PO- 00000227	O'HALLORAN	Underbody Plow	1.00	\$14,645.00	\$14,645.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	RC-00019237 for PO-	INTERNATIONAL INC O'HALLORAN	Dual Spreader w/Chutes	1.00	\$7,750.00	\$7,750.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000227 RC-00019238 for PO-	INTERNATIONAL INC O'HALLORAN	Dump Body, 13-Foot	1.00	\$21,466.00	\$21,466.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000231 RC-00019238 for PO-	INTERNATIONAL INC O'HALLORAN	Heavy Duty Front Wing, Right	1.00	\$11,993.00	\$11,993.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000231 RC-00019238 for PO-	INTERNATIONAL INC O'HALLORAN	Underbody Plow	1.00	\$14,645.00	\$14,645.00
Trailers 7020 - Road Equipment &	' '	00000231	INTERNATIONAL INC	-		\$4,605.00	\$4,605.00
Trailers	7020 "B" Equipment	RC-00019238 for PO- 00000231	INTERNATIONAL INC	Anti-Ice Tandem Axle	1.00		
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00019238 for PO- 00000231	O'HALLORAN INTERNATIONAL INC	Dual Spreader w/Chutes	1.00	\$7,750.00	\$7,750.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00019281 for PO- 00008492	HOLDEN INDUSTRIES INC	TANDEM AXLE TRAILER, 20-TON DECK-OVER TAG WITH BEAVERTAIL AND RAMPS; per specification 3-B650-0823 - ITEM	1.00	\$34,953.00	\$34,953.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00019376 for PO- 00004112	Varitech Industries	Anti-Ice Trailer - 2600 Gal, per spec 15-B574-0722 ITEM-1	1.00	\$48,900.00	\$48,900.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00019380 for PO- 00005504	HORIZON SIGNAL TECHNOLOGIES INC	Portable Traffic Signal Systems: per spec 10-B284-1122	1.00	\$43,000.00	\$43,000.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00019381 for PO-	Murphy Tractor & Equipment	Henke Scarifier Head	1.00	\$4,379.64	\$4,379.64
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00004418 RC-00019381 for PO-		Henke AHW11 - 11' All Hydraulic 60" Benching Wing Plow	1.00	\$31,187.60	\$31,187.60
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00004418 RC-00019422 for PO-	Co (Des Moines) Wisecom Technologies Inc	Weed Sprayer, 200-gallon skid with gas engine: NorthStar Skid	1.00	\$4,417.44	\$4,417.44
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00009867 RC-00019458 for PO-	Bobcat Company	Sprayer ITEM# 268170 or equivalent Sweeper Bucket 72-inch with Gutter broom kit - per attached quote	1.00	\$8,018.25	\$8,018.25
Trailers	ı ''	00008511		number: NS174640 Plow, Reversible 11' (Monroe R&D Test Plow) per attached		\$3,971.00	\$3,971.00
	7020 "B" Fauinment	RC-00019573 for PO-	MONROE TRUCK				
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00019573 for PO- 00010164	MONROE TRUCK EQUIPMENT	invoice.	1.00		
7020 - Road Equipment & Trailers 7020 - Road Equipment & Trailers	7020 "B" Equipment	00010164 RC-00019600 for PO- 00003702	EQUIPMENT O'HALLORAN INTERNATIONAL INC	invoice. Ice Blade Monroe Model - T00183895I	1.00	\$21,829.00	\$21,829.00
7020 - Road Equipment & Trailers 7020 - Road Equipment &		00010164 RC-00019600 for PO-	EQUIPMENT O'HALLORAN	invoice.			

7020 - Road Equipment &	7020 "B" Equipment	RC-00019600 for PO-	O'HALLORAN	Anti-Ice Tanks, Tandem Axle	1.00	\$6,650.00	\$6,650.00
Trailers		00003702	INTERNATIONAL INC	Monroe Model - T00201158			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00019600 for PO- 00003702	O'HALLORAN INTERNATIONAL INC	Winter Tailgate-Dual Sander w/Chutes Monroe Model - T00154370-C	1.00	\$17,197.00	\$17,197.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00019608 for PO- 00005569	MONROE TRUCK EQUIPMENT	Spreader, Tailgate Dual Spinner/Chute - Per attached quote # LLS3337	1.00	\$12,321.00	\$12,321.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00019709 for PO-	O'HALLORAN	PM/Manitex 8522 Articulated Crane & Personnel Basket	1.00	\$37,012.00	\$37,012.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000954 RC-00019709 for PO-	INTERNATIONAL INC O'HALLORAN	Knapheide Platform Body - 14 feet	1.00	\$15,893.00	\$15,893.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000954 RC-00019851 for PO-	INTERNATIONAL INC HORIZON SIGNAL	Portable Traffic Signal Systems: per spec 10-B284-1122	1.00	\$43,000.00	\$43,000.00
Trailers		00005504	TECHNOLOGIES INC	- ' ' '			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00019988 for PO- 00009648	SUPPLY LLC	Pavement Breaker - per attached specification: 1-B052-1123	1.00	\$17,490.00	\$17,490.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00019994 for PO- 00007910	PRAIRIE AG SUPPLY	Mower, Guardrail - Walk-Behind: Billy Goat BC2601 - HHC, Per attached quote from PrairieAg Supply	3.00	\$4,386.67	\$13,160.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00020092 for PO-	Varitech Industries	Anti-Ice Trailer - 2600 Gal, per spec 15-B574-0722 ITEM-1	1.00	\$48,900.00	\$48,900.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00004112 RC-00020140 for PO-	SCHULTE INDUSTRIES LTD	Mower, Rotary Gang 15' - 540 RPM per attached quote	0.00	\$46,769.37	\$0.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007457 RC-00020148 for PO-	SCHULTE INDUSTRIES LTD.	Mower, Rotary Gang 10' - 540 RPM per attached quote	3.00	\$42,690.66	\$128,071.98
Trailers		00007457					
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00020214 for PO- 00005504	HORIZON SIGNAL TECHNOLOGIES INC	Portable Traffic Signal Systems: per spec 10-B284-1122	1.00	\$43,000.00	\$43,000.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00020235 for PO- 00010361	Vermeer Sales & Service	Brush Chipper - Gas Powered, 72.4 hp engine, drum cutting head	1.00	\$42,733.44	\$42,733.44
7020 - Road Equipment &	7020 "B" Equipment	RC-00020271 for PO-	DEERE & COMPANY	Mower, Rotary 6' - John Deere RC6M 540 RPM - Per attached	1.00	\$3,638.88	\$3,638.88
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007543 RC-00020346 for PO-	DIAMOND MOWERS LLC	quote ID: 29521844 Disc, Shoulder, Tractor 3pt All American Disc, Cat II 3-point	2.00	\$9,133.50	\$18,267.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00008329 RC-00020406 for PO-	Dultmeier Sales	Mount Weed Sprayer, 300 Gallon 3pt	1.00	\$6,895.00	\$6,895.00
Trailers		00010496		To include the following items.			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00020440 for PO- 00005504	HORIZON SIGNAL TECHNOLOGIES INC	Portable Traffic Signal Systems: per spec 10-B284-1122	1.00	\$43,000.00	\$43,000.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00020506 for PO- 00004112	Varitech Industries	Anti-Ice Trailer - 1800 Gal, per spec 15-B574-0722 ITEM-2	1.00	\$47,900.00	\$47,900.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00020517 for PO-	THATSMYTRUCK.COM	Topper, Rolltop Cover	1.00	\$519.00	\$519.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00010386 RC-00020528 for PO-	Varitech Industries	Anti-Ice Trailer - 2600 Gal, per spec 15-B574-0722 ITEM-1	1.00	\$48,900.00	\$48,900.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00004112 RC-00020550 for PO-	Varitech Industries	Anti-Ice Trailer - 1800 Gal, per spec 15-B574-0722 ITEM-2	1.00	\$47,900.00	\$47,900.00
Trailers		00004112		·			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00020558 for PO- 00009419	John Deere Shared Services LLC	Broom - 72-inch	1.00	\$7,912.51	\$7,912.51
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00020558 for PO- 00009419	John Deere Shared Services	Bucket, scrap grapple	1.00	\$5,792.05	\$5,792.05
7020 - Road Equipment &	7020 "B" Equipment	RC-00020617 for PO-	NORTHERN TRUCK	Tommy Gate G2-60-1342 EA38 Lift Gate and Mounting Kit, to	5.00	\$2,990.00	\$14,950.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00009918 RC-00020617 for PO-	EQUIPMENT CORP NORTHERN TRUCK	Include Rear Camera and Sensor Bar as well as ECCO 501 97dB Tommy Gate G2-60-1342 TP27 Lift Gate and Mounting Kit, to	15.00	\$2,195.00	\$32,925.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00009918 RC-00020620 for PO-	EQUIPMENT CORP	Include Rear Camera and Sensor Bar as well as ECCO 501 97dB Tommy Gate G2-60-1342 EA38 Lift Gate and Mounting Kit, to	1.00	\$2,990.00	\$2,990.00
Trailers		00010100	EQUIPMENT CORP	Include Rear Camera and Sensor Bar as well as ECCO 501 97dB			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00020632 for PO- 00004112	Varitech Industries	Anti-Ice Trailer - 2600 Gal, per spec 15-B574-0722 ITEM-1	2.00	\$48,900.00	\$97,800.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00020744 for PO- 00004112	Varitech Industries	Anti-Ice Trailer - 2600 Gal, per spec 15-B574-0722 ITEM-1	4.00	\$48,900.00	\$195,600.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00020761 for PO-	MONROE TRUCK	11-Foot Hydraulically Reversible, Straight Moldboard Show Plow	8.00	\$7,280.00	\$58,240.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007287 RC-00020797 for PO-	EQUIPMENT MONROE TRUCK	With Integral Snow Shield - Per attached specification No. 53- 11-Foot Hydraulically Reversible, Straight Moldboard Show Plow	8.00	\$7,280.00	\$58,240.00
Trailers	7020 "B" Equipment	00007287 RC-00020813 for PO-	EQUIPMENT MONROE TRUCK	With Integral Snow Shield - Per attached specification No. 53- 11-Foot Hydraulically Reversible, Straight Moldboard Show Plow	8.00	\$7,280.00	\$58,240.00
7020 - Road Equipment & Trailers		00007287	EQUIPMENT	With Integral Snow Shield - Per attached specification No. 53-			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00020829 for PO- 00007287	MONROE TRUCK EQUIPMENT	11-Foot Hydraulically Reversible, Straight Moldboard Show Plow With Integral Snow Shield - Per attached specification No. 53-	4.00	\$7,280.00	\$29,120.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00020831 for PO- 00007313	MONROE TRUCK EQUIPMENT	Anti-Ice Trailer 2600 Gallon complete per specification No. 12- B574-0623	1.00	\$55,632.00	\$55,632.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00020883 for PO-	MONROE TRUCK	11-Foot Hydraulically Reversible, Straight Moldboard Show Plow	4.00	\$7,280.00	\$29,120.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007287 RC-00020885 for PO-	EQUIPMENT MONROE TRUCK	With Integral Snow Shield - Per attached specification No. 53- 11-Foot Hydraulically Reversible, Straight Moldboard Show Plow	0.00	\$7,280.00	\$0.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007287 RC-00020885 for PO-	EQUIPMENT MONROE TRUCK	With Integral Snow Shield - Per attached specification No. 53- 11-Foot Hydraulically Reversible, One-Way Funnel Moldboard	0.00	\$8,353.00	\$0.00
Trailers		00007287	EQUIPMENT	Snow Plow - Per Attached Specification No. 53-B508-3-B531-0623			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00020886 for PO- 00007313	MONROE TRUCK EQUIPMENT	Anti-Ice Trailer 2600 Gallon complete per specification No. 12- B574-0623	3.00	\$55,632.00	\$166,896.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00020887 for PO- 00009421	John Deere Shared Services	Sweeper Bucket 72-inch with Gutter broom kit - per attached quote number: 29967574	1.00	\$10,067.88	\$10,067.88
7020 - Road Equipment &	7020 "B" Equipment	RC-00020930 for PO-	MONROE TRUCK	Anti-Ice Trailer 2600 Gallon complete per specification No. 12-	2.00	\$55,632.00	\$111,264.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007313 RC-00020966 for PO-	EQUIPMENT SCHULTE INDUSTRIES LTD	B574-0623 Mower, Rotary Gang 10' - 540 RPM per attached quote	1.00	\$42,690.66	\$42,690.66
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00007457 RC-00021015 for PO-		Mower, Rotary Gang 15' - 540 RPM per attached quote	4.00	\$46,769.37	\$187,077.48
Trailers		00007457					
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00021101 for PO- 00007287	MONROE TRUCK EQUIPMENT	11-Foot Hydraulically Reversible, Straight Moldboard Show Plow With Integral Snow Shield - Per attached specification No. 53-	8.00	\$7,280.00	\$58,240.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00021158 for PO- 00010274	KELTEK INC	Lightbar (IADOTSY5) - per attached quote # 5603	1.00	\$2,626.00	\$2,626.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00021274 for PO-		Henke Scarifier Head	1.00	\$4,379.64	\$4,379.64
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00006647 RC-00021274 for PO-	Co (Des Moines) Murphy Tractor & Equipment	per quote # Henke AHWII Hydraulic Snow Wing	2.00	\$31,187.60	\$62,375.20
Trailers 7020 - Road Equipment &		00006647 RC-00021344 for PO-	Co (Des Moines) MONROE TRUCK	per quote #09674077 11-Foot Hydraulically Reversible, Straight Moldboard Show Plow	4.00		
Trailers	7020 "B" Equipment	00007287	EQUIPMENT	With Integral Snow Shield - Per attached specification No. 53-		\$7,280.00	\$29,120.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00021344 for PO- 00007287	MONROE TRUCK EQUIPMENT	11-Foot Hydraulically Reversible, One-Way Funnel Moldboard Snow Plow - Per Attached Specification No. 53-B508-3-B531-0623	3.00	\$8,353.00	\$25,059.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00021354 for PO- 00009117	Murphy Tractor & Equipment	2.0 cu yard Bucket	1.00	\$6,188.00	\$6,188.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	RC-00021365 for PO-	Co (Des Moines) Iowa Plains Signing	"Connected" Arrow Board, Wireless, Solar Signal Trailers - Per	4.00	\$8,725.00	\$34,900.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00010032 RC-00021379 for PO-	Ascendance Truck Centers	attached specification: 4-B492-1123 Reading Steel Service Body per Hawkeye Quote 25537	1.00	\$15,255.00	\$15,255.00
Trailers		00011419					
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00021380 for PO- 00007457		Mower, Rotary Gang 15' - 540 RPM per attached quote	1.00	\$46,769.37	\$46,769.37
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00021381 for PO- 00007313	MONROE TRUCK EQUIPMENT	Anti-Ice Trailer 2600 Gallon complete per specification No. 12- B574-0623	2.00	\$55,632.00	\$111,264.00
	I	- 300.0.0					

7020 - Road Equipment &	7020 "B" Equipment	RC-00021409 for PO-	MONROE TRUCK	11-Foot Hydraulically Reversible, Straight Moldboard Show Plow	8.00	\$7,280.00	\$58,240.00
Trailers 7020 - Road Equipment &		00007287	EQUIPMENT	With Integral Snow Shield - Per attached specification No. 53-	698.00		\$11,603,273.77
Trailers Total 7030 - Large Office Furniture	7030 "C" Equipment	RC-00016691 for PO-	W W GRAINGER INC	TK87861461T Bin Cabinet Base Type Frame Bin Color Red Bin	1.00	0 \$2,240.37	\$2,240.37
& Files 7030 - Large Office Furniture		00007131	W W GIGHNOEK ING	HxWxD 12 8 in x 15 in x 7 in 24 6 in x 11 in x 5 in 48 4 in x 5 in x		Ψ2,240.01	
& Files Total					1.00	0	\$2,240.37
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00013919 for PO- 00006625	W W GRAINGER INC	Rolling Ladder, 12-Step unassembled - Steel 450 lb. capacity with permanent capacity decal/tag	1.00	\$1,455.98	\$1,455.98
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00013972 for PO- 00006627	SHERWIN WILLIAMS (Ames)	Paint Sprayer - Airless - Battery Powered For Traffic Quick Dry Paint	1.00	\$1,725.00	\$1,725.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014041 for PO- 00006718	W W GRAINGER INC	Portable Generator, 5K Watt, Recoil Start Gas Engine 120/240V AC	2.00	\$759.19	\$1,518.38
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014043 for PO- 00006742	NILFISK INC	Floor Burnisher, 20" Head and Package of 20" Pads.	1.00	\$874.43	\$874.43
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00014043 for PO-	NILFISK INC	Triple S Q-line 1500, Viper 1500 Floor Machine 17" Rotary Head	1.00	\$566.69	\$566.69
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00006742 RC-00014046 for PO-	Graybar Electric Co Inc	115V, 1.5 hp., 175 RPM Brush Motor Hydraulic Sign Post Driver - Crane Suspended; Remote Valve;	2.00	\$3,478.00	\$6,956.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00006740 RC-00014050 for PO-	JIM HAWK TRUCK TRAILER	Weight Min 64 lbs; Impact Energy Min 80 ft-lb; Universal Post Truck Service Ramps, 20 ton, 16" tread	1.00	\$1,020.00	\$1,020.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00006500 RC-00014055 for PO-	OF DES MOINES NILFISK INC	AFF 3420ASD, Gray PTRW-20 Floor Scrubber 17" Disc, Walk-Behind Pad Assist, Battery	4.00	\$3,232.60	\$12,930.40
Equipment		00006742		Powered with On-Board Charger, 8 gal. Solution Tank, 10 gal.			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014056 for PO- 00006499	SERVICE SUPPLY AMERICA	Body Prop, Dump-Lok DLN-105WT pair (2) notched model	1.00	\$1,259.00	\$1,259.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014096 for PO- 00006520	Snap On Industrial a Div of IDSC Holdings (Inactive)	Smoke Machine Leak Detector Snap-On Blue Point EELD600HD	1.00	\$3,045.78	\$3,045.78
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014096 for PO- 00006520	Snap On Industrial a Div of IDSC Holdings (Inactive)	Impact Wrench 1" Light Weight Snap-On PT1800AL	1.00	\$1,250.58	\$1,250.58
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014154 for PO- 00006906	ARNOLD MOTOR SUPPLY - AMES, IA	A/C Recover, Recycle, Recharge, Machine, Fully Automatic R134A Refrigerant	1.00	\$4,300.00	\$4,300.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014178 for PO- 00006513		Olympus OmniScan X3, 16:64PR Phased Array Flaw Detector with TFM with Olympus 4L16-16X16-A24-P-2.5-OM Phased Array	1.00	\$39,315.00	\$39,315.00
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00014184 for PO-	W W GRAINGER INC	Rolling Ladder, 5-Step assembled - Aluminum	3.00	\$1,273.01	\$3,819.03
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00006625 RC-00014196 for PO-	ACME Tools	350 lb. capacity with permanent capacity decal/tag Drill Press 1-1/2HP, 115V, 1 phase with chuck & key	1.00	\$1,312.00	\$1,312.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00006905 RC-00014196 for PO-	ACME Tools	JET JPD-20MF or equivalent Band Saw	1.00	\$1,700.00	\$1,700.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00006905 RC-00014204 for PO-	ACME Tools	Jet HVBS7MW Stk#414459 or equivalent Compactor, Vibra Pan	2.00	\$2,200.00	\$4,400.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00006857 RC-00014219 for PO-	W W GRAINGER INC	5.5 hp Rolling Ladder, 9-Step assembled - Aluminum	7.00	\$1,786.76	\$12,507.32
Equipment		00006625		350 lb. capacity with permanent capacity decal/tag			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014332 for PO- 00006904	Matheson Tri-Gas (Inactive)	Drill Press Variable Speeds 0 to 1200 RPM	2.00	\$3,944.40	\$7,888.80
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014332 for PO- 00006904	Matheson Tri-Gas (Inactive)	Mitre Band Saw Ellis 1600 or equivalent	1.00	\$3,294.53	\$3,294.53
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014332 for PO- 00006904	Matheson Tri-Gas (Inactive)	Belt/Disc Sander Ellis 6000 or equivalent	1.00	\$1,703.10	\$1,703.10
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014338 for PO- 00006896	Matheson Tri-Gas (Inactive)	Welding PAPR Respirator & Helmet Optrel Swiss Air with Crystal 2.0 Helmet #1006.901 & Optrel Swiss	2.00	\$1,278.31	\$2,556.62
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00014338 for PO-	Matheson Tri-Gas (Inactive)	Welding PAPR Respirator	2.00	\$972.70	\$1,945.40
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00006896 RC-00014395 for PO-	W W GRAINGER INC	Optrel Swiss Air #4700.010 with extra mask #4160.500 Portable Generator, 5K, Gas,	1.00	\$759.19	\$759.19
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00007095 RC-00014478 for PO-	WHITE CAP LP	5000 Continuous Run Watts Pneumatic Breaker, 35# Class w/Muffler & Vibration Reduction - 1"	2.00	\$1,169.00	\$2,338.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00007132 RC-00014478 for PO-	WHITE CAP LP	shank Pneumatic Breaker, 60# Class w/Muffler & Vibration Reduction - 1-	1.00	\$1,229.00	\$1,229.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00007132 RC-00014478 for PO-	WHITE CAP LP	1/8" shank Pneumatic Breaker, 90# Class w/Muffler & Vibration Reduction - 1-	3.00	\$1,305.00	\$3,915.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00007132 RC-00014534 for PO-	Sprayer Specialties Inc	1/8" shank Pump 3"-7.5 HP, 208-230V 1-Phase	5.00		
Equipment		00006140	, , ,	3" inlet and outlet		\$2,101.00	\$10,505.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014534 for PO- 00006140	Sprayer Specialties Inc	Pump 2"-5 HP, 208V-230V 1-Phase 2" inlet and outlet	2.00	\$1,690.00	\$3,380.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014534 for PO- 00006140	Sprayer Specialties Inc	Pump 2"-5 HP, 208V 3-Phase 2" inlet and outlet	1.00	\$1,425.00	\$1,425.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014567 for PO- 00006167	KESSLER SOILS ENGINEERING PRODUCTS	Non-Destructive Thickness Measuring Gauge System for Asphalt & Concrete Pavements. Single Piece Measuring Gauge with GPS.	2.00	\$21,687.00	\$43,374.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00014851 for PO- 00007464	W W GRAINGER INC	TK89542236T Inverter Generator Inverter Gasoline Generator Rated Watts 1800 W Surge Watts 2200 W 120V AC Generator	2.00	\$1,569.62	\$3,139.24
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00014908 for PO- 00004841	TUXCO CORPORATION	Hydraulic Cylinder Tester	1.00	\$14,723.40	\$14,723.40
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	RC-00014924 for PO-	W W GRAINGER INC	Testing Pressure 300psi to 3000psi TK89542236T Inverter Generator Inverter Gasoline Generator	1.00	\$1,569.62	\$1,569.62
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00007464 RC-00015204 for PO-	AgSpray Equipment	Rated Watts 1800 W Surge Watts 2200 W 120V AC Generator Vertical Tank, 7800 gal. 120"D per attached specification	4.00	\$6,519.00	\$26,076.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00006426 RC-00015205 for PO-	Midwest Wheel Co	7900 gallon Vertical Tank, 120" dia. x 177" tall, Natural color, 3" OTC Axle Jack, 27-ton air/hydraulic	4.00	\$3,196.00	\$12,784.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00004483 RC-00015208 for PO-	INDI ENTERPRISE INC	Lifetime mfg. defect warranty OTC Press, 55-Ton, Electric/Hydraulic Pump	1.00	\$9,989.89	\$9,989.89
Equipment		00004482		Double-Acting Ram, 13" Stroke			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00015280 for PO- 00006426	AgSpray Equipment	Vertical Tank, 7800 gal. 120"D per attached specification 7900 gallon Vertical Tank, 120" dia. x 177" tall, Natural color, 3"	2.00	\$6,519.00	\$13,038.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00015300 for PO- 00007471	LIFTNOW AUTOMOTIVE EQUIPMENT CORP	PARTS WASHER, SPRAY WASH CABINET FEATURES:	1.00	\$6,445.10	\$6,445.10
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00015301 for PO- 00006474	MOON GLO WORK LIGHT	Balloon Lights 1000w, Moon-Glo Tripod Mounted Item # MGTMP-1000MHB	1.00	\$3,445.00	\$3,445.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00015360 for PO- 00006982	CEDAR VALLEY PRESSURE WASHING EQUIP LLC	Hot Pressure Washer - Stationary Item 1 of Requirements Attachment	1.00	\$4,875.00	\$4,875.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00015379 for PO- 00006981		Hot Pressure Washer - Stationary Item 1 of Requirements Attachment	1.00	\$4,875.00	\$4,875.00
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00015381 for PO-	CEDAR VALLEY PRESSURE	Hot Pressure Washer - Stationary with Remote Control & Hose	1.00	\$5,142.00	\$5,142.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00006980 RC-00015449 for PO-	WASHING EQUIP LLC Redline Detection LLC	Reel Smoke Leak Detector	1.00	\$4,091.20	\$4,091.20
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00007799 RC-00015522 for PO-	ACME Tools	Redline HD PowerSmoke with Membrane Switch 95-0171 Core Drill - Electric with 4" core bit 16" shaft or Equivalent	2.00	\$2,062.00	\$4,124.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00007817 RC-00015544 for PO-	ACME Tools	Evolution EVOMAG42 with 10 Cutter Set	1.00	\$963.60	\$963.60
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00007817 RC-00015544 for PO-	ACME Tools	Magnetic Drill, w/Chuck Adapter, 1/2" Chuck & Key Hammer Drill - Electric	1.00	\$1,075.00	\$1,075.00
Equipment		00007817		2" Bit Capacity			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00015598 for PO- 00006424	AgSpray Equipment	Vertical Tank, 7800 gal. 120"D per attached specification 7900 gallon Vertical tank, 120" dia. x 177" tall, Natural Color, 3"	1.00	\$7,040.00	\$7,040.00

	Inches of the second	Inc. constraint. Do					******
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00015630 for PO- 00007842	Logan Contractor Supply	Dowel Drill Rig E-Z Drill 85B with bit guide	1.00	\$6,825.00	\$6,825.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00015686 for PO- 00007970	Cala Industries Inc	72" Roller Tool Cabinet - 18 Drawer 72' Wide x 30" Deep	7.00	\$2,196.16	\$15,373.12
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00015896 for PO-	ACME Tools	Concrete Roller Screed	1.00	\$4,100.00	\$4,100.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00007841 RC-00015923 for PO-	HENDERSON PRODUCTS	Gas Engine Powered - Honda SALT BRINE PRODUCTION PLANT	1.00	\$61,134.00	\$61,134.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00007452 RC-00016042 for PO-	INC Airgas USA LLC	Henderson Brine Xtreme Advantage with PRO Control and salt Welder, MIG 1-phase	6.00	\$4,154.62	\$24,927.72
Equipment		00008067	-	Wheel kit			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00016042 for PO- 00008067	Airgas USA LLC	Welder, Multi Process Dual Cylinder Cart	3.00	\$5,444.58	\$16,333.74
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00016042 for PO- 00008067	Airgas USA LLC	Welder/Generator, Gas Engine Driven Welder Stick/TIG, 60-195 A, Rated 185 A @25 V, 20% Duty Cycle	1.00	\$5,069.40	\$5,069.40
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00016042 for PO- 00008067	Airgas USA LLC	Welder, Spool Gun 30A	1.00	\$1,716.71	\$1,716.71
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00016066 for PO-	Airgas USA LLC	Plasma Cutter - Manual	5.00	\$2,579.40	\$12,897.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00008067 RC-00016107 for PO-	CAMPBELL SUPPLY CO	Cut Capacity Recommended 3/4", Max 1-1/4" Frame Jack/Stand, 10 ton air	13.00	\$825.00	\$10,725.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00008180 RC-00016206 for PO-	(Iowa Falls) ACME Tools	Lifetime mfg. defect warranty Farm Service Jack	3.00	\$1,798.92	\$5,396.76
Equipment		00008183		15-Ton Air/Hydraulic			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00016246 for PO- 00008178	JIM HAWK TRUCK TRAILER OF DES MOINES	Service Jack, 10 ton hydraulic Lifetime mfg. defect warranty	1.00	\$1,275.00	\$1,275.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00016246 for PO- 00008178	JIM HAWK TRUCK TRAILER OF DES MOINES	Axle Jack, 22 ton air/hydraulic Lifetime mfg. defect warranty	10.00	\$907.25	\$9,072.50
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00016246 for PO- 00008178		Axle Jack, 27 ton air/hydraulic Lifetime mfg, defect warranty	5.00	\$3,775.00	\$18,875.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	RC-00016262 for PO-	JIM HAWK TRUCK TRAILER	Axle Jack, 27 ton air/hydraulic	1.00	\$3,775.00	\$3,775.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00008178 RC-00016338 for PO-	OF DES MOINES CAMPBELL SUPPLY CO	Lifetime mfg. defect warranty Frame Jack/Stand, 10 ton air	7.00	\$825.00	\$5,775.00
Equipment 7040 - Shop Tools & Small		00008180 RC-00016340 for PO-	(Iowa Falls) CAMPBELL SUPPLY CO	Lifetime mfg. defect warranty Frame Jack/Stand, 10 ton air	7.00	\$825.00	\$5,775.00
Equipment	7040 "D" Equipment	00008180	(Iowa Falls)	Lifetime mfg. defect warranty			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00016373 for PO- 00008179	Midwest Wheel Co	Service Jack, 6 ton air/hydraulic Lifetime mfg. defect warranty	1.00	\$1,145.00	\$1,145.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00016400 for PO- 00008491	W W GRAINGER INC	Wire Length Meter UEI CLM100	1.00	\$497.75	\$497.75
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00016455 for PO-	W W GRAINGER INC	Wire Length Meter	1.00	\$497.75	\$497.75
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00008491 RC-00016473 for PO-	W W GRAINGER INC	UEI CLM100 Honda Portable Generator, Gas	2.00	\$2,563.30	\$5,126.60
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00008533 RC-00016568 for PO-	ARNOLD MOTOR SUPPLY -	3000 Watt Press, 50 Ton, Air/Hydraulic Pump	3.00	\$6,677.99	\$20,033.97
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00008182 RC-00016589 for PO-	AMES, IA TROXLER ELECTRONICS	Ram, 13" Stroke Asphalt mixture load frame with control and recording unit	1.00	\$16,310.00	\$16,310.00
Equipment		00007834	LABS INC				
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00016653 for PO- 00008601	WHO ASSOCIATES LLC	Reflectometer - Traffic Marking - Handheld DELTA LTL-3500	1.00	\$27,552.00	\$27,552.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00016730 for PO- 00005635	FORNEY LP	Digital upgrade to D26693 Per quote # 19635	1.00	\$53,800.00	\$53,800.00
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00017328 for PO-	Snap on Industrial a Division of IDSC Holdings LLC	NEXIQ USB-Link 2, Bluetooth Edition 124032	1.00	\$1,045.73	\$1,045.73
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00009119 RC-00017372 for PO-	JIM HAWK TRUCK TRAILER	Axle Jack, 27 ton air/hydraulic	9.00	\$3,775.00	\$33,975.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00008178 RC-00017447 for PO-	OF DES MOINES CAMPBELL SUPPLY CO	Lifetime mfg. defect warranty Air Compressor, Stationary - 7.5 hp Industrial	1.00	\$4,068.16	\$4,068.16
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00009158 RC-00018100 for PO-	(Iowa Falls) EVIDENT SCIENTIFIC INC	28 CFM @ 175 PSI Minimum (no exception) Olympus EPCOH 650 Ultrasonic Flaw Detector with:	1.00	\$8,285.00	\$8,285.00
Equipment		00009252		Knob navigation			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00018210 for PO- 00009226	KESSLER SOILS ENGINEERING PRODUCTS	Non-Destructive Thickness Measuring Gauge System for Asphalt & Concrete Pavements. Single Piece Measuring Gauge with GPS.	2.00	\$21,687.00	\$43,374.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00018572 for PO- 00006425	AgSpray Equipment	Vertical Tank, 7800 gal. 120"D per attached specification 7900 gallon Vertical Tank, 120" dia. x 177" tall, Natural color, 3"	4.00	\$6,465.00	\$25,860.00
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00018681 for PO- 00008184	INDI ENTERPRISE INC	Port-A-Power 10 Ton 2-Speed Ram 6" Stroke	3.00	\$1,319.89	\$3,959.67
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	RC-00018719 for PO-		Service Jack, 20 ton air/hydraulic	2.00	\$3,625.99	\$7,251.98
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00008181 RC-00018899 for PO-	AMES, IA NAPA AUTO PARTS multiple	Lifetime mfg. defect warranty Tire Changer (Coats RC55E) with lift table (5608609) - per	1.00	\$7,928.48	\$7,928.48
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00008686 RC-00019154 for PO-	cities CAMPBELL SUPPLY CO	attached DAS Quote #395655 Oil Dispenser System with Meter Control	3.00	\$1,248.38	\$3,745.14
Equipment		00008750	(Iowa Falls)	Lincoln 4490 Pump w/55Gal. Bing Adapter and Pickup Tube			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00019154 for PO- 00008750	CAMPBELL SUPPLY CO (lowa Falls)	Grease Dispenser System with Control Gun & Dolly For 25-50 lb. Pail	1.00	\$1,157.75	\$1,157.75
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00019709 for PO- 00000954	O'HALLORAN INTERNATIONAL INC	Xantrex XPower 5000 Inverter	1.00	\$700.00	\$700.00
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00019868 for PO-	CAMPBELL SUPPLY CO	Grease Dispenser System	2.00	\$1,396.95	\$2,793.90
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00008750 RC-00020212 for PO-	(Iowa Falls) INSTRO TEK INC	For 55 gal. /400 lb. Drum Concrete compression machine with automatic controls	2.00	\$10,327.79	\$20,655.58
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00010037 RC-00020686 for PO-	Midwest Wheel Co	OTC Puller Set - 13-Ton	1.00	\$1,306.00	\$1,306.00
Equipment		00004483		Wall Mount Storage Board			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00021414 for PO- 00009774	Safety-Kleen Systems Inc	Solvent Recycler with Electric Fill/Transfer Pump: Unit must be compatible with EasiSolv 120 solvent.	1.00	\$6,996.00	\$6,996.00
7040 - Shop Tools & Small Equipment Total					202.00	0	\$814,776.69
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00014074 for PO- 00004905	Motorola Solutions Inc	BATT IMPRES 2 LIION R IP67 3400T	2.00	\$137.44	\$274.88
7060 Copiers, Fax &	7060 "F" Equipment	RC-00014253 for PO-	Motorola Solutions Inc	XTL5000 KEYPAD MICROPHONE	2.00	\$252.29	\$504.58
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00004905 RC-00014253 for PO-	Motorola Solutions Inc	SPEAKER,SPKR. 7.5 W	2.00	\$0.00	\$0.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00004905 RC-00014253 for PO-	Motorola Solutions Inc	REMOTE CHR IMPR VEH ADAPT INT	2.00	\$1,214.14	\$2,428.28
Communication Equipment		00004905		TRUNION KIT			
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00014253 for PO- 00004905	Motorola Solutions Inc		2.00	\$43.36	\$86.72
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00014253 for PO- 00004905	Motorola Solutions Inc	CHARGER, SINGLE-UNIT, IMPRES 2, 3A, 115VAC, US/NA	2.00	\$123.78	\$247.56
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00014253 for PO- 00004905	Motorola Solutions Inc	CABLE, MOBILE MIC EXTENSION, 10FT	2.00	\$33.11	\$66.22
7060 Copiers, Fax &	7060 "F" Equipment	RC-00014253 for PO-	Motorola Solutions Inc	ANT 1/4 WAVE 7/800 STUBBY	2.00	\$22.86	\$45.72
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00004905 RC-00014330 for PO-	Motorola Solutions Inc	APX8500 - Single Band Radio for Highway	150.00	\$3,831.19	\$574,678.50
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00004429 RC-00014421 for PO-	Motorola Solutions Inc	APX8500 - WiFi w/Antennas - multi-band radio for MVE	12.00	\$5,672.69	\$68,072.28
Communication Equipment		00004429		The same and the s	12.00	ψ0,012.00	Q00,012.20

7060 Copiers, Fax &	7060 "F" Equipment	RC-00014614 for PO-	CDW GOVERNMENT INC	GoPro HERO11 Black - action camera	1.00	\$571.00	\$571.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00006969 RC-00014884 for PO-	Motorola Solutions Inc	APX 900 7/800 MHZ MODEL 2 PORTABLE	1.00	\$949.00	\$949.00
Communication Equipment		00006287				·	·
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00014884 for PO- 00006287	Motorola Solutions Inc	ADD: HW KEY SUPPLEMENTAL DATA	1.00	\$3.00	\$3.00
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00014884 for PO- 00006287	Motorola Solutions Inc	ADD: PROGRAMMING OVER P25 (OTAP)	1.00	\$50.00	\$50.00
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00014884 for PO- 00006287	Motorola Solutions Inc	ENH: P25 TRUNKING	1.00	\$588.50	\$588.50
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00014884 for PO- 00006287	Motorola Solutions Inc	ENH: AES 256 SW ENCRYPTION AND ADP	1.00	\$120.00	\$120.00
7060 Copiers, Fax &	7060 "F" Equipment	RC-00014884 for PO-	Motorola Solutions Inc	ADD: MULTIKEY	1.00	\$30.00	\$30.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00006287 RC-00014884 for PO-	Motorola Solutions Inc	ADD: TDMA OPERATION	1.00	\$247.50	\$247.50
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00006287 RC-00014884 for PO-	Motorola Solutions Inc	ADD: 3Y ESSENTIAL	1.00	\$133.00	\$133.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00006287 RC-00015044 for PO-	Motorola Solutions Inc	SERVICE CHARGER,CHGR DESKTOP	1.00	\$59.92	\$59.92
Communication Equipment		00006287		SINGLE UNIT IMPRES EXT			
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00015451 for PO- 00007792	CDW GOVERNMENT INC	GoPro HERO11 Black - action camera	2.00	\$380.00	\$760.00
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00016139 for PO- 00007843	Motorola Solutions Inc	CABLE, CH POWER AND SPEAKER	8.00	\$42.69	\$341.52
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00016153 for PO- 00008053	Transit Works	Sokkia GCX3 Kit	17.00	\$9,591.47	\$163,054.99
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00016153 for PO- 00008053	Transit Works	Sokkia GRX3 Base & Rover Kit	11.00	\$29,936.00	\$329,296.00
7060 Copiers, Fax &	7060 "F" Equipment	RC-00016153 for PO-	Transit Works	Sokkia iX-1201 1" RTS	8.00	\$28,560.25	\$228,482.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00008053 RC-00016153 for PO-	Transit Works	Easy Pro 35W External Radio	2.00	\$3,066.00	\$6,132.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00008053 RC-00017045 for PO-	Graybar Electric Co Inc	Bogen C60, Audio Power Amplifier, 60 watts, 70 volt	1.00	\$456.34	\$456.34
Communication Equipment		00008909		,		·	·
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00017045 for PO- 00008909	Graybar Electric Co Inc	Bogen SPT30A, horn loudspeaker, 70 volt capable	6.00	\$122.35	\$734.10
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00017045 for PO- 00008909	Graybar Electric Co Inc	Bogen AT10A, Attenuator, for 70 volt system	6.00	\$31.27	\$187.62
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00017047 for PO- 00008912	Graybar Electric Co Inc	Bogen C35, Audio Power Amplifier, 35 watts, 70 volt	2.00	\$355.31	\$710.62
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00017047 for PO- 00008912	Graybar Electric Co Inc	Bogen SPT308A, horn loudspeaker, 70 volt capable	4.00	\$122.35	\$489.40
7060 Copiers, Fax &	7060 "F" Equipment	RC-00017047 for PO-	Graybar Electric Co Inc	Bogen AT10A, Attenuator, for 70 volt system	4.00	\$31.27	\$125.08
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00008912 RC-00017183 for PO-	AMAZON BUSINESS	Astron RS-20A linear 20 amp power supply	2.00	\$194.95	\$389.90
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00008914 RC-00018397 for PO-	ACT TRAFFIC SOLUTIONS	ADR2000+ 8L/8P/SD	5.00	\$5,834.00	\$29,170.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00002479 RC-00018493 for PO-	INC Imaging Products	DJI Mavic 3E Worry-Free Plus Combo	1.00	\$4,995.00	\$4,995.00
Communication Equipment		00009273	International Inc	Compact and Portable			
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00018922 for PO- 00008910	Motorola Solutions Inc	APX™ Consolette 1L37TSS9PW1AN ALL BAND CONSOLETTE	0.00	\$6,455.52	\$0.00
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00018922 for PO- 00008910	Motorola Solutions Inc	ASTRO TECHNICAL ASSISTANCE	0.00	\$2,500.00	\$0.00
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00018922 for PO- 00008910	Motorola Solutions Inc	MCD 5000 Deskset System	0.00	\$2,275.00	\$0.00
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00018922 for PO- 00008910	Motorola Solutions Inc	ETHERNET CABLE 25' EV CAT5E PCH CB	0.00	\$29.70	\$0.00
7060 Copiers, Fax &	7060 "F" Equipment	RC-00018922 for PO-	Motorola Solutions Inc	SM, RADIO GATEWAY UNIT	0.00	\$2,275.00	\$0.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00008910 RC-00018926 for PO-	Motorola Solutions Inc	(RGU) MCD 5000 Deskset System	4.00	\$2,275.00	\$9,100.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00008910 RC-00018926 for PO-	Motorola Solutions Inc	SM, RADIO GATEWAY UNIT	1.00	\$2,275.00	\$2,275.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00008910 RC-00018932 for PO-	Motorola Solutions Inc	(RGU) APX™ Consolette	0.00	\$6,455.52	\$0.00
Communication Equipment		00008910		1L37TSS9PW1AN ALL BAND CONSOLETTE			
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00018932 for PO- 00008910	Motorola Solutions Inc	ASTRO TECHNICAL ASSISTANCE	0.00	\$2,500.00	\$0.00
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00018932 for PO- 00008910	Motorola Solutions Inc	ETHERNET CABLE 25' EV CAT5E PCH CB	0.00	\$29.70	\$0.00
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00019016 for PO- 00008910	Motorola Solutions Inc	APX™ Consolette 1L37TSS9PW1AN ALL BAND CONSOLETTE	0.00	\$6,455.52	\$0.00
7060 Copiers, Fax &	7060 "F" Equipment	RC-00019016 for PO-	Motorola Solutions Inc	ASTRO TECHNICAL	0.00	\$2,500.00	\$0.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00008910 RC-00019016 for PO-	Motorola Solutions Inc	ASSISTANCE ETHERNET CABLE 25' EV	0.00	\$29.70	\$0.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00008910 RC-00019020 for PO-	Motorola Solutions Inc	CAT5E PCH CB APX™ Consolette	0.00	\$6,455.52	\$0.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00008910 RC-00019020 for PO-	Motorola Solutions Inc	1L37TSS9PW1AN ALL BAND CONSOLETTE ASTRO TECHNICAL	0.00	\$2,500.00	\$0.00
Communication Equipment		00008910		ASSISTANCE			
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00019020 for PO- 00008910	Motorola Solutions Inc	ETHERNET CABLE 25' EV CAT5E PCH CB	0.00	\$29.70	\$0.00
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00019627 for PO- 00007843	Motorola Solutions Inc	8500 E5 DM TO RM	0.00	\$179.00	\$0.00
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00019627 for PO- 00007843	Motorola Solutions Inc	ADD: REMOTE MOUNT CABLE 17 FT APX	0.00	\$8.50	\$0.00
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00019812 for PO- 00009839	Motorola Solutions Inc	CHARGER,CHGR DESKTOP SINGLE UNIT IMPRES EXT PS US/NA/TW	2.00	\$59.92	\$119.84
7060 Copiers, Fax &	7060 "F" Equipment	RC-00020415 for PO-	RICOH USA INC	Ricoh High Volume IM C4510	1.00	\$8,841.00	\$8,841.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00009776 RC-00020416 for PO-	RICOH USA INC	INNOVOLT POWER FILTER W/INRUSH, SURGE AND NOISE Ricoh High Volume IM C4510	1.00	\$8,841.00	\$8,841.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00009777 RC-00020472 for PO-	SEILER INSTRUMENT &	INNOVOLT POWER FILTER W/INRUSH, SURGE AND NOISE TRUPULSE 200X	1.00	\$1,995.00	\$1,995.00
Communication Equipment 7060 Copiers, Fax &	7060 "F" Equipment	00010513 RC-00020472 for PO-	MANU SEILER INSTRUMENT &	TRUPULSE 360R & 200X MOUNTING BRACKET FOR	1.00	\$145.00	\$145.00
Communication Equipment		00010513	MANU	TRUANGLE			·
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00020472 for PO- 00010513	SEILER INSTRUMENT & MANU	CLAW MOUNTING BASE W/ ARM	1.00	\$65.00	\$65.00
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00020472 for PO- 00010513	SEILER INSTRUMENT & MANU	TABLET XGRIP CRADLE	1.00	\$60.00	\$60.00
7060 Copiers, Fax & Communication Equipment	7060 "F" Equipment	RC-00020472 for PO- 00010513	SEILER INSTRUMENT & MANU	MAPSTAR TRUANGLE	1.00	\$1,595.00	\$1,595.00
7060 Copiers, Fax &	7060 "F" Equipment	RC-00020472 for PO-	SEILER INSTRUMENT &	FIXED TRIBACH ADAPTER	1.00	\$47.25	\$47.25
Communication Equipment	l	00010513	MANU	<u> </u>			

Description Company	7060 Copiers, Fax &	7060 "F" Equipment	RC-00020472 for PO-	SEILER INSTRUMENT &	SURVEY TRIPOD	1.00	\$175.00	\$175.00
Proceedings Part Companies Companies Companies Part Companies		7060 "F" Equipment			TRIBRACH W/ LASER PLUMMET	1.00	\$215.00	\$215.00
Commontation Engineers Commontation Services Commontation		7060 "F" Equipment			GUS104 Upgrade Kit for GR25 to GR50.	2.00	\$6,095,00	\$12,190.00
Commonitor Engages 100 1	Communication Equipment		00010097		GR25BT to GR50BT			
Description Engineer	Communication Equipment		00010871		·			
Communication Communicatio	Communication Equipment	7060 F Equipment		PCB Plezotronics inc	,		\$920.00	
Machael Engineeria 100 00 00 100 00 100 00 00 100 00 100 00 100 00 100 00 00 100 00 100 00 100 00	Communication Equipment						0	
Monte of Engineeric	l '	7100 "G" Equipment			Standard Back Panel	0.00	\$129.92	\$0.00
Package Pack	l '	7100 "G" Equipment			Lufft LCOM RPU	0.00	\$5,802.38	\$0.00
Placetor Ecopyment		7100 "G" Equipment			TRIO-PS-2G/1AC/24DC/10	0.00	\$361.14	\$0.00
1970 1970 Computed 1970 1970 Computed 1970 Compute		7100 "G" Equipment			5-Port SWITCH	0.00	\$137.87	\$0.00
1793 b 719 Completes 70 Visionment Control Section Con	7070 to 7110 - Computers &	7100 "G" Equipment	RC-00014004 for PO-	HOOSIER COMPANY INC	Lufft Isocon	0.00	\$605.79	\$0.00
Total Designation Comparison Fig. 100 Comparison	7070 to 7110 - Computers &	7100 "G" Equipment	RC-00014004 for PO-	HOOSIER COMPANY INC	Lufft Anacon	0.00	\$605.79	\$0.00
STODE DESCRIPTION CONTRIGUENT A PLANT OF TEMPORARY PROPERTY CONTRIVENCE CONTRIVENC	7070 to 7110 - Computers &	7100 "G" Equipment	RC-00014004 for PO-	HOOSIER COMPANY INC	Lufft Analog Converter - RM Young	0.00	\$296.22	\$0.00
Total Computers Fig. 10 Total Equipment Co. (Co. (Co. (Co. F.)) Co. (Co. (Co. (Co. F.)) Co. (Co. (Co. (Co. F.)) Co. (Co. (Co. Co. Co. Co. Co. (Co. Co. Co. Co. Co. (Co. Co. Co. Co. Co. Co. Co. Co. (Co. Co. Co. Co. Co. Co. (Co. Co. Co. Co. Co. Co. Co. Co. Co. (Co. Co. Co. Co. Co. Co. Co. Co. Co. (Co. Co. Co. Co. Co. Co. Co. Co. Co. (Co. Co. Co. Co. Co. Co. Co. Co. Co. (Co. Co. Co. Co. Co. Co. Co. Co. C	7070 to 7110 - Computers &	7100 "G" Equipment	RC-00014004 for PO-	HOOSIER COMPANY INC	Surge Protection UMB	0.00	\$359.20	\$0.00
Professor 100 Computers & 100 Comput		7100 "G" Equipment			Surge Suppressor	0.00	\$84.07	\$0.00
Model Equipment Model Equipment Model Equipment Model (100 Companies & 100 Coff Equipment Model (100 Companies & 100		7100 "G" Equipment			Din Rail	0.00	\$3.05	\$0.00
Related Equament	Related Equipment		00006055	THE				
Palabate Equipment Computers & Flore OF Equipment Computers	Related Equipment		00006055	THE				
Relation Equipment Computers & 7100 O'S Equipment Computers	Related Equipment		00006055	THE				
Realable Equipment 7/107 to Trip Computers & 7/107 to Trip Compute	Related Equipment		00006055	THE				
Related Equipment Computers & 7100 °C Fegipment Computer	Related Equipment		00006055	THE				·
Related Equipment 7070 °C Equipment 8, 700 °C Equipment 100 °C Equipment 1		7100 "G" Equipment			Lufft Isocon	4.00	\$605.79	\$2,423.16
Related Equipment 00000055 THE 00000056 THE 000000056 THE 00000056 THE 00000056 THE 00000056 THE		7100 "G" Equipment			Lufft Anacon	2.00	\$605.79	\$1,211.58
1707 to 7110 - Computers & 7/00 °G* Equipment RC-00014006 for PO- 00006055 ThE Computers & 7/00 °G* Equipment RC-00014006 for PO- 00006055 ThE ROSER COMPANY INC Surge Suppressor 1.00 \$84.07 \$84.17		7100 "G" Equipment			Lufft Analog Converter - RM Young	1.00	\$296.22	\$296.22
1707 to 7110 - Computers & 70 O'G' Equipment C-00014005 for PC HOOSIER COMPANY INC Surge Suppressor 1.00 38.407 38.41	7070 to 7110 - Computers &	7100 "G" Equipment			Surge Protection UMB	3.00	\$359.20	\$1,077.60
1770 to 7110 - Computers & 7100 "G" Equipment RC-00014005 for PO- HOSSIER COMPANY INC Din Raii 1.00 \$3.05 \$3.35	7070 to 7110 - Computers &	7100 "G" Equipment	RC-00014005 for PO-	HOOSIER COMPANY INC	Surge Suppressor	1.00	\$84.07	\$84.07
1707 to 7110 - Computers & 1707 of "Equipment RC-00014098 for PO- DOWG OVERNMENT INC 85" - TV with at least 3 HDMI inputs and RS232 control 1.00 \$1,853.00 \$1,85	7070 to 7110 - Computers &	7100 "G" Equipment	RC-00014005 for PO-	HOOSIER COMPANY INC	Din Rail	1.00	\$3.05	\$3.05
1707 to 7110 - Computers & 7100 Cf* Equipment RC-00014138 for PO- MOSIER COMPANY INC Standard Back Panel 1.00 \$129.92 \$129. 129.	7070 to 7110 - Computers &	7070 "G" Equipment	RC-00014098 for PO-		85" - TV with at least 3 HDMI inputs and RS232 control	1.00	\$1,863.00	\$1,863.00
Part	7070 to 7110 - Computers &	7100 "G" Equipment	RC-00014138 for PO-		Standard Back Panel	1.00	\$129.92	\$129.92
100 or 110 - Computers & 7100 "G" Equipment Computers & 7100 "	7070 to 7110 - Computers &	7100 "G" Equipment	RC-00014138 for PO-	HOOSIER COMPANY INC	Lufft Anacon	2.00	\$605.79	\$1,211.58
1070 to 7110 - Computers & 7100 "G" Equipment RC-00014138 for PO. HOOSIER COMPANY INC Surge Protection UMB 3.00 \$359.20 \$1,077.1		7100 "G" Equipment			Lufft Isocon	4.00	\$605.79	\$2,423.16
Related Equipment 00006053 THE 00006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014138 for PO- 0006053 THE Computers & 7100 "G" Equipment RC.00014140 for PO- 0006054 THE Computers & 7100 "G" Equipment RC.00014140 for PO- 0006054 THE RC.00014140 for PO- 0006054 T	Related Equipment 7070 to 7110 - Computers &	7100 "G" Equipment			Surge Protection UMB	3.00	\$359.20	\$1,077.60
Related Equipment 00006053 THE	Related Equipment				Surge Suppressor	1.00	\$84.07	\$84.07
Related Equipment	Related Equipment					1.00	\$3.05	\$3.05
Related Equipment Computers & 7100 "G" Equipment RC-00014138 for PO- HOOSIER COMPANY INC TRIO-PS-2G/1AC/24DC/10 1.00 \$361.14 \$361.	Related Equipment		00006053	THE				
Related Equipment 00006053 THE 1.00 \$5,802.38 \$5,802.38 \$5,802.38 \$6,802	Related Equipment		00006053	THE				
Related Equipment 00006053 THE 1.00 "G" Equipment RC-00014138 for PO- 0006053 THE 1.00 "G" Equipment RC-00014138 for PO- 0006053 THE 1.00 "G" Equipment RC-00014140 for PO- 0006054 THE 1.00 "G" Equ	Related Equipment		00006053	THE				
Related Equipment 00006053 THE	Related Equipment		00006053	THE				
Related Equipment 00006054 THE 1.00 "G" Equipment RC-00014140 for PO- 0006054 THE 1.00 "G" Equipment RC-0014140 for PO- 000605	Related Equipment		00006053	THE				\$296.22
Related Equipment 00006054 THE	Related Equipment		00006054	THE	-			\$296.22
Related Equipment 00006054 THE 1.00 "G" Equipment C-00014140 for PO- 00006054 THE 1.00 "G" Equipment RC-00014140 for PO- 00006054 THE 1.00 "G" Equipment	l '	7100 "G" Equipment			Lufft LCOM RPU	1.00	\$5,802.38	\$5,802.38
7070 to 7110 - Computers & 7100 "G" Equipment RC-00014140 for PO- 00006054 THE 1.00 SIER COMPANY INC Surge Suppressor 1.00 SIER COMPANY INC THE 1.00 SIER COMPANY INC SIER COMPANY INC THE 1.00 SIER COMPANY INC SIER COMPANY INC THE 1.00 SIER COMPANY INC SIE		7100 "G" Equipment			TRIO-PS-2G/1AC/24DC/10	1.00	\$361.14	\$361.14
7070 to 7110 - Computers & RC-00014140 for PO-	7070 to 7110 - Computers &	7100 "G" Equipment	RC-00014140 for PO-	HOOSIER COMPANY INC	5-Port SWITCH	1.00	\$137.87	\$137.87
7070 to 7110 - Computers & RC-00014140 for PO-Related Equipment RC-00014140 for PO-00006054 HOOSIER COMPANY INC THE Surge Suppressor 1.00 \$84.07 \$84.07 7070 to 7110 - Computers & 7100 "G" Equipment RC-00014140 for PO-HOOSIER COMPANY INC Surge Suppressor 1.00 \$359.20 \$1,077.0	7070 to 7110 - Computers &	7100 "G" Equipment	RC-00014140 for PO-	HOOSIER COMPANY INC	Din Rail	1.00	\$3.05	\$3.05
7070 to 7110 - Computers & 7100 "G" Equipment RC-00014140 for PO- HOOSIER COMPANY INC Surge Protection UMB 3.00 \$359.20 \$1,077.00 \$1,077	7070 to 7110 - Computers &	7100 "G" Equipment	RC-00014140 for PO-	HOOSIER COMPANY INC	Surge Suppressor	1.00	\$84.07	\$84.07
related Equipment 1 10006054 TTHE 1	7070 to 7110 - Computers &	7100 "G" Equipment	RC-00014140 for PO-	HOOSIER COMPANY INC	Surge Protection UMB	3.00	\$359.20	\$1,077.60
7070 to 7110 - Computers & 7100 "G" Equipment RC-00014140 for PO- HOOSIER COMPANY INC Lufft Isocon 4.00 \$605.79 \$2,423.		7100 "G" Equipment			Lufft Isocon	4.00	\$605.79	\$2,423.16
	7070 to 7110 - Computers &	7100 "G" Equipment	RC-00014140 for PO-	HOOSIER COMPANY INC	Lufft Anacon	2.00	\$605.79	\$1,211.58
Related Equipment 00006054 THE Description THE T		7100 "G" Equipment			Standard Back Panel	1.00	\$129.92	\$129.92
Related Equipment 00006054 THE	Related Equipment		00006054	THE				\$441.96
Related Equipment 00007193	Related Equipment		00007193					\$219.00
Related Equipment 00007193	Related Equipment		00007193		·			\$441.96
Related Equipment 00007193	Related Equipment		00007193					•
Related Equipment 00007281	Related Equipment		00007281					\$14,827.52
7070 to 7110 - Computers & 7070 "G" Equipment RC-00014616 for PO- 00006969 Related Equipment RC-00016669 RC-00014616 for PO- 00006969 RP E23 G4 - E-Series - LED monitor - Full HD (1080p) - 23" 3.00 \$195.00 \$585.00		7070 "G" Equipment		CDW GOVERNMENT INC	HP E23 G4 - E-Series - LED monitor - Full HD (1080p) - 23"	3.00	\$195.00	\$585.00

7070 to 7110 - Computers &	7070 "G" Equipment	RC-00014616 for PO-	CDW GOVERNMENT INC	HP E23 G4 - E-Series - LED monitor - Full HD (1080p) - 23"	4.00	\$195.00 	\$780.00
Related Equipment 7070 to 7110 - Computers &		00006969 RC-00014616 for PO-	CDW GOVERNMENT INC	HP E23 G4 - E-Series - LED monitor - Full HD (1080p) - 23"	1.00	\$195.00	\$195.00
Related Equipment	7070 "G" Equipment	00006969				·	
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00014637 for PO- 00007137	Sirius Computer Solutions	ELA SOFTWARE AND SUPPORT SERVICES FEES	1.00	\$887,691.00	\$887,691.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00014645 for PO- 00007281	Insight Public Sector	Topaz sig pad complete 4x5	8.00	\$463.36	\$3,706.88
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00014667 for PO- 00007136	Sirius Computer Solutions	PowerFlex A300 - 240TB, 800GB SSD	1.00	\$177,108.64	\$177,108.64
7070 to 7110 - Computers &	7100 "G" Equipment	RC-00014667 for PO-	Sirius Computer Solutions	PowerFlex A300 - 240TB, 800GB SSD	1.00	\$177,107.36	\$177,107.36
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00007136 RC-00014749 for PO-	Insight Public Sector	HDMI cable 25'	2.00	\$23.62	\$47.24
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00007401 RC-00014749 for PO-	Insight Public Sector	Microsoft 4K adapter	2.00	\$74.52	\$149.04
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00007401 RC-00014749 for PO-	Insight Public Sector	Chief flat mount	2.00	\$220.87	\$441.74
Related Equipment 7070 to 7110 - Computers &		00007401 RC-00014805 for PO-			1.00	\$350.00	\$350.00
Related Equipment	7070 "G" Equipment	00006969	CDW GOVERNMENT INC	Cannon ImageFormula DR-C225 II			
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00014880 for PO- 00007401	Insight Public Sector	65" - 4K consumer TV with at least 3 HDMI inputs LG 65UR640S9UD UR640S Series	2.00	\$848.21	\$1,696.42
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00015218 for PO- 00007667	VERIZON BUSINESS SERVICES (for	iPad Pro 6th Gen & pen	1.00	\$1,329.98	\$1,329.98
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00015239 for PO- 00007616	Lenovo Inc	ThinkPad Universal USB-C Dock	30.00	\$181.00	\$5,430.00
7070 to 7110 - Computers &	7070 "G" Equipment	RC-00015239 for PO-	Lenovo Inc	ThinkPad	34.00	\$312.00	\$10,608.00
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00007616 RC-00015321 for PO-	Insight Public Sector	Thunderbolt 4 HP E23 G4 - E-Series - LED monitor - Full HD (1080p) - 23"	40.00	\$193.00	\$7,720.00
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00007711 RC-00015329 for PO-	Lenovo Inc	Notebook ThinkPad X1 Carbon G11, 16GB, 512SSD, 3Y Premier	15.00	\$1,340.00	\$20,100.00
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00007616 RC-00015330 for PO-	Lenovo Inc	Notebook ThinkPad T16 Gen 2, 16GB, 512SSD, 3Y Premier	15.00	\$1,138.00	\$17,070.00
Related Equipment 7070 to 7110 - Computers &	7070 'G' Equipment	00007616		LG 32" 3840 x 2160 Monitor			
Related Equipment		RC-00015339 for PO- 00007711	Insight Public Sector		2.00	\$325.00	\$650.00
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00015418 for PO- 00007788	CDW GOVERNMENT INC	HP Officejet Pro 8025e Inkjet Multifunction Printer-Color- Copier/Fax/Scanner-29 ppm Mono/25 ppm Color Print-4800x1200	1.00	\$159.25	\$159.25
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00015467 for PO- 00007616	Lenovo Inc	Notebook ThinkPad P1 G6, 32GB, 512SSD, 3Y Premier	15.00	\$2,202.00	\$33,030.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00015473 for PO- 00007788	CDW GOVERNMENT INC	Samsung UN55CU7000F CU7000 Series - 55" Class (54.6" viewable) LED-backlit LCD TV - Crystal UHD - 4K	1.00	\$395.00	\$395.00
7070 to 7110 - Computers &	7070 "G" Equipment	RC-00015607 for PO-	Lenovo Inc	Notebook ThinkPad P16 Gen 2, 64GB, 1TB, 3Y Premier	1.00	\$2,380.00	\$2,380.00
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00007616 RC-00015632 for PO-	Lenovo Inc	Notebook ThinkPad P16 Gen 2, 64GB, 1TB, 3Y Premier	18.00	\$2,380.00	\$42,840.00
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00007616 RC-00015668 for PO-	CDW GOVERNMENT INC	25' HDMI to HDMI cable male to male	1.00	\$14.40	\$14.40
Related Equipment 7070 to 7110 - Computers &		00007788 RC-00015684 for PO-	Lenovo Inc	ThinkCentre M70s Gen 3, Intel® Core™ i7-12700	128.00	\$851.00	\$108,928.00
Related Equipment		00007789		·		·	
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00015684 for PO- 00007789	Lenovo Inc	ThinkCentre M70s Gen 3, Intel® Core™ i7-12700	135.00	\$851.00	\$114,885.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00015684 for PO- 00007789	Lenovo Inc	Desktop TC M70q Gen 3_Intel Q670_Tiny_ES AutoTest	138.00	\$797.00	\$109,986.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00015684 for PO- 00007789	Lenovo Inc	Desktop TC M70q Gen 3_Intel Q670_Tiny_ES	170.00	\$797.00	\$135,490.00
7070 to 7110 - Computers &	7070 "G" Equipment	RC-00015740 for PO- 00007347	CDW GOVERNMENT INC	HP E23 G4 - E-Series - LED monitor - Full HD (1080p) - 23"	1.00	\$220.98	\$220.98
Related Equipment 7070 to 7110 - Computers &	7110 "G" Equipment	RC-00015740 for PO-	CDW GOVERNMENT INC	Canon PIXMA iP8720 - printer - color - ink-jet	1.00	\$229.00	\$229.00
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00007347 RC-00016153 for PO-	Transit Works	Sokkia SHC6000 Ext Range Tablet	33.00	\$4,583.58	\$151,258.14
Related Equipment 7070 to 7110 - Computers &	7100 "G" Equipment	00008053 RC-00016222 for PO-	Sirius Computer Solutions	Network connectivity - Nexus 9300 Series, 36p 40/100G QSFP28	2.00	\$85,618.13	\$171,236.26
Related Equipment 7070 to 7110 - Computers &	7100 "G" Equipment	00007138 RC-00016222 for PO-	Sirius Computer Solutions	Network Storage - Power Flex	2.00	\$172.799.72	\$345,599.43
Related Equipment		00007138	·	ů		, , , ,	
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00016222 for PO- 00007138	Sirius Computer Solutions	Network Power Flex Servers	9.00	\$71,355.59	\$642,200.31
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00016424 for PO- 00008501	CDW GOVERNMENT INC	Samsung S27A804NMN - S80A Series - LED monitor - 4K - 27" - HDR	2.00	\$365.00	\$730.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00016553 for PO- 00007513	HOOSIER COMPANY INC	Lufft LCOM RPU 9999.IOWA Iowa RPU Backpanel	1.00	\$13,377.00	\$13,377.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00016584 for PO-	CDW GOVERNMENT INC	Ames DC Core - Proline Cisco QSFP-100G-SR4-S Compatible	10.00	\$275.00	\$2,750.00
7070 to 7110 - Computers &		000000044		OCEDOO TAA	10.00		
	7100 "G" Equipment	00008644 RC-00016584 for PO-	CDW GOVERNMENT INC	QSFP28 TAA Ames DC Core - Proline - QSFP28 transceiver module - 100	2.00	\$5,630.00	\$11,260.00
Related Equipment 7070 to 7110 - Computers &	7100 "G" Equipment 7100 "G" Equipment		CDW GOVERNMENT INC			\$5,630.00 \$100.00	\$11,260.00 \$200.00
Related Equipment		RC-00016584 for PO- 00008644		Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet -	2.00		
Related Equipment 7070 to 7110 - Computers & Related Equipment 7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment 7100 "G" Equipment	RC-00016584 for PO- 00008644 RC-00016584 for PO- 00008644 RC-00016584 for PO- 00008644	CDW GOVERNMENT INC	Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft AMES DC CORE - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet -	2.00	\$100.00 \$275.00	\$200.00 \$1,100.00
Related Equipment 7070 to 7110 - Computers & Related Equipment 7070 to 7110 - Computers & Related Equipment 7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment 7100 "G" Equipment 7100 "G" Equipment	RC-00016584 for PO- 00008644 RC-00016584 for PO- 00008644 RC-00016584 for PO- 00008644 RC-00016584 for PO- 00008644	CDW GOVERNMENT INC CDW GOVERNMENT INC CDW GOVERNMENT INC	Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabil Ethernet - Ames DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft AMES DC CORE- Proline - QSFP28 transceiver module - 100 Gigabil Ethernet - Ames Campus Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft	2.00 2.00 4.00 2.00	\$100.00 \$275.00 \$100.00	\$200.00 \$1,100.00 \$200.00
Related Equipment 7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment 7100 "G" Equipment 7100 "G" Equipment 7100 "G" Equipment	RC-00016584 for PO- 00008644 RC-00016584 for PO- 00008644 RC-00016584 for PO- 00008644 RC-00016584 for PO- 00008644 RC-00016584 for PO- 00008644	CDW GOVERNMENT INC CDW GOVERNMENT INC CDW GOVERNMENT INC CDW GOVERNMENT INC	Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft AMES DC CORE- Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet -	2.00 2.00 4.00 2.00 4.00	\$100.00 \$275.00 \$100.00 \$275.00	\$200.00 \$1,100.00 \$200.00 \$1,100.00
Related Equipment 7070 to 7110 - Computers &	7100 "G" Equipment 7100 "G" Equipment 7100 "G" Equipment	RC-00016584 for PO- 00008644 RC-00016584 for PO- 00008644 RC-00016584 for PO- 00008644 RC-00016584 for PO- 00008644 RC-00016584 for PO-	CDW GOVERNMENT INC CDW GOVERNMENT INC CDW GOVERNMENT INC	Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft AMES DC CORE- Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Campus Core - Proline - QSFP28 transceiver module - 100	2.00 2.00 4.00 2.00	\$100.00 \$275.00 \$100.00	\$200.00 \$1,100.00 \$200.00
Related Equipment 7070 to 7110 - Computers &	7100 "G" Equipment 7100 "G" Equipment 7100 "G" Equipment 7100 "G" Equipment	RC-00016584 for PO- 00008644 RC-00016584 for PO-	CDW GOVERNMENT INC CDW GOVERNMENT INC CDW GOVERNMENT INC CDW GOVERNMENT INC	Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft AMES DC CORE- Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ames Leaf - Proline 100GBase direct attach cable - TAA	2.00 2.00 4.00 2.00 4.00	\$100.00 \$275.00 \$100.00 \$275.00	\$200.00 \$1,100.00 \$200.00 \$1,100.00
Related Equipment 7070 to 7110 - Computers &	7100 "G" Equipment	RC-00016584 for PO- 00008644 RC-00016584 for PO-	CDW GOVERNMENT INC	Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft AMES DC CORE- Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ames Leaf - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Leaf - Proline Cisco QSFP-100G-SR4-S Compatible	2.00 2.00 4.00 2.00 4.00 4.00	\$100.00 \$275.00 \$100.00 \$275.00	\$200.00 \$1,100.00 \$200.00 \$1,100.00
Related Equipment 7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00016584 for PO- 00008644 RC-00016584 for PO-	CDW GOVERNMENT INC	Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft AMES DC CORE- Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ames Leaf - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Leaf - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline 100GBase direct attach cable - TAA Ankeny DC Core - Proline 100GBase direct attach cable - TAA	2.00 2.00 4.00 2.00 4.00 4.00	\$100.00 \$275.00 \$100.00 \$275.00 \$275.00	\$200.00 \$1,100.00 \$200.00 \$1,100.00 \$1,600.00
Related Equipment 7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00016584 for PO- 00008644 RC-00016584 for PO-	CDW GOVERNMENT INC	Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft AMES DC CORE- Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ames Leaf - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Leaf - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ankeny DC Core - Proline - QSFP28 transceiver module - 100	2.00 2.00 4.00 2.00 4.00 4.00 16.00	\$100.00 \$275.00 \$100.00 \$275.00 \$275.00 \$100.00	\$200.00 \$1,100.00 \$200.00 \$1,100.00 \$1,600.00 \$2,200.00
Related Equipment 7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00016584 for PO- 00008644	CDW GOVERNMENT INC	Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft AMES DC CORE- Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ames Leaf - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Leaf - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ankeny DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.0 ft Ankeny DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet -	2.00 2.00 4.00 2.00 4.00 4.00 16.00 2.00 4.00	\$100.00 \$275.00 \$100.00 \$275.00 \$275.00 \$100.00 \$100.00 \$275.00	\$200.00 \$1,100.00 \$200.00 \$1,100.00 \$1,100.00 \$2,200.00 \$2,100.00
Related Equipment 7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00016584 for PO- 00008644	CDW GOVERNMENT INC	Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft AMES DC CORE- Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ames Leaf - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Leaf - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ankeny DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA	2.00 2.00 4.00 2.00 4.00 4.00 16.00 2.00 4.00	\$100.00 \$275.00 \$100.00 \$275.00 \$275.00 \$100.00 \$275.00 \$100.00 \$275.00	\$200.00 \$1,100.00 \$200.00 \$1,100.00 \$1,100.00 \$2,200.00 \$2,200.00 \$1,100.00 \$2,750.00
Related Equipment 7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00016584 for PO- 00008644	CDW GOVERNMENT INC	Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft AMES DC CORE- Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ames Leaf - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Leaf - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ankeny DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet -	2.00 2.00 4.00 2.00 4.00 4.00 16.00 2.00 4.00	\$100.00 \$275.00 \$100.00 \$275.00 \$275.00 \$100.00 \$275.00 \$100.00 \$275.00 \$275.00	\$200.00 \$1,100.00 \$200.00 \$1,100.00 \$1,100.00 \$2,200.00 \$2,750.00 \$11,260.00
Related Equipment 7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00016584 for PO- 00008644 RC-00016584 for PO- 00008844 RC-00016584 for PO- 00008644	CDW GOVERNMENT INC CDW GOVERNMENT INC	Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft AMES DC CORE- Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ames Leaf - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Leaf - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ankeny DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline Cisco QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny Carpus Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft	2.00 2.00 4.00 2.00 4.00 4.00 4.00 16.00 2.00 4.00 2.00 2.00 2.00	\$100.00 \$275.00 \$100.00 \$275.00 \$275.00 \$100.00 \$275.00 \$275.00 \$275.00 \$275.00	\$200.00 \$1,100.00 \$200.00 \$1,100.00 \$1,100.00 \$2,200.00 \$2,750.00 \$11,260.00
Related Equipment 7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00016584 for PO- 00008644 RC-00016584 for PO-	CDW GOVERNMENT INC	Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft AMES DC CORE- Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ames Leaf - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Leaf - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ankeny DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA	2.00 2.00 4.00 2.00 4.00 4.00 16.00 2.00 4.00	\$100.00 \$275.00 \$100.00 \$275.00 \$275.00 \$100.00 \$275.00 \$100.00 \$275.00 \$275.00	\$200.00 \$1,100.00 \$200.00 \$1,100.00 \$1,100.00 \$2,200.00 \$2,750.00 \$11,260.00
Related Equipment 7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00016584 for PO- 00008644 RC-00016584 for PO-	CDW GOVERNMENT INC CDW GOVERNMENT INC	Ames DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft AMES DC CORE - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ames Campus Core - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ames Leaf - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ames Leaf - Proline Cisco QSFP-100G-SR4-S Compatible QSFP28 TAA Ankeny DC Core - Proline 100GBase direct attach cable - TAA Compliant - 3.3 ft Ankeny DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny DC Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny Campus Core - Proline - QSFP28 transceiver module - 100 Ankeny Campus Core - Proline - QSFP28 transceiver module - 100 Gigabit Ethernet - Ankeny Campus Core - Proline - QSFP28 transceiver module -	2.00 2.00 4.00 2.00 4.00 4.00 4.00 16.00 2.00 4.00 2.00 2.00 2.00	\$100.00 \$275.00 \$100.00 \$275.00 \$275.00 \$100.00 \$275.00 \$275.00 \$275.00 \$275.00	\$200.00 \$1,100.00 \$200.00 \$1,100.00 \$1,100.00 \$1,600.00 \$2,200.00 \$2,750.00 \$11,260.00 \$200.00

7070 to 7110 - Computers &	7100 "G" Equipment	RC-00016584 for PO-	CDW GOVERNMENT INC	Ankeny Leaf - Proline 100GBase direct attach cable - TAA	16.00	\$100.00	\$1,600.00
Related Equipment 7070 to 7110 - Computers &	7100 "G" Equipment	00008644 RC-00016584 for PO-	CDW GOVERNMENT INC	Compliant - 3.3 ft Ankeny Leaf - Proline Cisco QSFP-100G-SR4-S Compatible	8.00	\$275.00	\$2,200.00
Related Equipment		00008644		QSFP28 TAA		·	
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00016698 for PO- 00008645	HEARTLAND BUSINESS SYSTEMS LLC	Ames Campus Core C9500-48Y4C-A Catalyst 9500 48-port x 1/10/25G + 4-port	2.00	\$37,596.79	\$75,193.58
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00016733 for PO- 00008722	US BANK CARDMEMBER SERVICES (PCARD)	Honeywell 3800G Handheld Barcode Scanner with USB Cable	1.00	\$229.00	\$229.00
7070 to 7110 - Computers &	7110 "G" Equipment	RC-00016948 for PO-	CDW GOVERNMENT INC	Lexmark MS431dw - printer - B/W - laser	2.00	\$366.68	\$733.36
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00008926 RC-00016956 for PO-	CDW GOVERNMENT INC	HP E23 G4 23" Class Full HD LCD Monitor - 16:9	2.00	\$212.97	\$425.94
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00008926 RC-00017272 for PO-	DELL MARKETING LP	Dell Dock- WD19S 130w Power Delivery 180w Power Supply	1.00	\$196.87	\$196.87
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00009168 RC-00017494 for PO-	DELL MARKETING LP	Dell Latitude 5430 Rugged	1.00	\$2,155.80	\$2,155.80
Related Equipment		00009168					
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00017496 for PO- 00008502	CDW GOVERNMENT INC	HP E23 G4 - E-Series - LED monitor - Full HD (1080p) - 23" Mfg. Part#: 9VF96AA#ABA	1.00	\$215.00	\$215.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00017588 for PO- 00008502	CDW GOVERNMENT INC	HP E23 G4 - E-Series - LED monitor - Full HD (1080p) - 23" Mfg. Part#: 9VF96AA#ABA	8.00	\$215.00	\$1,720.00
7070 to 7110 - Computers &	7100 "G" Equipment	RC-00017942 for PO- 00008645	HEARTLAND BUSINESS SYSTEMS LLC	Ames Leaf N9K-C93180YC- FX3 Nexus 9300 48p 1/10/25G, 6p 40/100G,	8.00	\$20,003.13	\$160,025.04
Related Equipment 7070 to 7110 - Computers &	7100 "G" Equipment	RC-00017997 for PO-	HEARTLAND BUSINESS	Ankeny DC Core	2.00	\$37,220.52	\$74,441.04
Related Equipment 7070 to 7110 - Computers &	7100 "G" Equipment	00008645 RC-00018282 for PO-	SYSTEMS LLC HEARTLAND BUSINESS	N9K-C93360YC- FX2Nexus 9300 w/ 96p 1/10/25G, 12p 100G, Ankeny Leaf	6.00	\$20,003.13	\$120,018.78
Related Equipment 7070 to 7110 - Computers &	7100 "G" Equipment	00008645 RC-00018446 for PO-	SYSTEMS LLC HEARTLAND BUSINESS	N9K-C93180YC- FX3 Nexus 9300 48p 1/10/25G, 6p 40/100G, AMES DC CORE	2.00	\$37,220.52	\$74.441.04
Related Equipment		00008645	SYSTEMS LLC	N9K-C93360YC-FX Nexus 9300 w/ 96p 1/10/25G, 12p 100G,			, , .
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00018446 for PO- 00008645	HEARTLAND BUSINESS SYSTEMS LLC	Ames Management N9K-C9348GC-FXPNexus 9300 with 48p 100M/1GT, 4p	3.00	\$10,446.99	\$31,340.97
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00018446 for PO- 00008645	HEARTLAND BUSINESS SYSTEMS LLC	Ankeny Campus Core C9500-48Y4C-A Catalyst 9500 48-port x 1/10/25G + 4-port	2.00	\$37,596.79	\$75,193.58
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00018446 for PO- 00008645	HEARTLAND BUSINESS SYSTEMS LLC	Ankeny Management N9K-C9348GC-FXPNexus 9300 with 48p 100M/1GT, 4p 10/25G	3.00	\$10,446.99	\$31,340.97
7070 to 7110 - Computers &	7070 "G" Equipment	RC-00018476 for PO-	AMAZON BUSINESS	25' HDMI to HDMI cable male to male	1.00	\$17.63	\$17.63
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00009623 RC-00018485 for PO-	AMAZON BUSINESS	Logitech GROUP videoconferencing kit with expansion mics	1.00	\$1,119.95	\$1,119.95
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00009623 RC-00018537 for PO-	AMAZON BUSINESS	55" Consumer quality TV - Class 4K HDR Smart TV, multiple	1.00	\$477.99	\$477.99
Related Equipment		00009623		HDMI ports	1.00	·	\$409.95
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00018537 for PO- 00009623	AMAZON BUSINESS	Chief TS525TU pullout and swivel mount		\$409.95	·
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00018607 for PO- 00009663	CDW GOVERNMENT INC	Brother MFC-J5340DW - multifunction printer - color CDW#: 7111315	1.00	\$267.04	\$267.04
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00018611 for PO- 00009663	CDW GOVERNMENT INC	HP E23 G4 - E-Series - LED monitor - Full HD (1080p) - 23" Mfg. Part#: 9VF96AA#ABA	0.00	\$215.00	\$0.00
7070 to 7110 - Computers &	7070 "G" Equipment	RC-00018611 for PO-	CDW GOVERNMENT INC	HP E23 G4 - E-Series - LED monitor - Full HD (1080p) - 23"	0.00	\$215.00	\$0.00
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00009663 RC-00018666 for PO-	AMAZON BUSINESS	Mfg. Part#: 9VF96AA#ABA reMarkable 2 tablet	1.00	\$299.00	\$299.00
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00009700 RC-00018667 for PO-	AMAZON BUSINESS	Model Marker Plus	1.00	\$130.00	\$130.00
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00009700 RC-00018667 for PO-	AMAZON BUSINESS	Model Book Folio protective case	1.00	\$170.00	\$170.00
Related Equipment		00009700		·		·	·
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00018891 for PO- 00009799	US BANK CARDMEMBER SERVICES (PCARD)	Mobile Pixels Trio Max 2.0 14.1 inch 1080p Portable Laptop Monitors - Black	1.00	\$549.99	\$549.99
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00018914 for PO- 00009654	HP Inc	HP DesignJet T1700dr PS Printer printheads, ink cartridges, printer stand, spindles (x2), setup	1.00	\$8,095.08	\$8,095.08
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00018914 for PO- 00009654	HP Inc	HP 5 year Next Business Day Onsite HW Support w/Defective Media Retention for DesignJet T1700 2 roll	0.00	\$1,160.52	\$0.00
7070 to 7110 - Computers &	7110 "G" Equipment	RC-00018918 for PO-	HP Inc	HP DesignJet T1700dr PS Printer	1.00	\$8,095.08	\$8,095.08
Related Equipment 7070 to 7110 - Computers &	7100 "G" Equipment	00009654 RC-00019152 for PO-	HEARTLAND BUSINESS	printheads, ink cartridges, printer stand, spindles (x2), setup C9300L 24-port PoE, 4x10G Uplink, 715wac PS, w/MERAKI	97.00	\$3,526.10	\$342,031.70
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00009928 RC-00019375 for PO-	SYSTEMS LLC CDW GOVERNMENT INC	HP E24 G5 - E-Series - LED monitor - Full HD (1080p) - 23"	2.00	\$195.00	\$390.00
Related Equipment		00009663	CDW GOVERNMENT INC	Mfg. Part#: 9VF96AA#ABA		·	
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00019375 for PO- 00009663		HP E24 G5 - E-Series - LED monitor - Full HD (1080p) - 23" Mfg. Part#: 9VF96AA#ABA	3.00	\$195.00	\$585.00
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00019409 for PO- 00009199	CDW GOVERNMENT INC	HP Officejet Pro 9110B Desktop Inkjet Printer - Color	0.00	\$145.49	\$0.00
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00019409 for PO- 00009199	CDW GOVERNMENT INC	HP Officejet Pro 8135e Inkjet Multifunction Printer-Color- Copier/Fax/Scanner-29 ppm	0.00	\$164.89	\$0.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00019409 for PO- 00009199	CDW GOVERNMENT INC	HP E24 G5 24" Class Full HD LCD Monitor - 16:9	0.00	\$195.00	\$0.00
7070 to 7110 - Computers &	7070 "G" Equipment	RC-00019411 for PO-	Lenovo Inc	ThinkPad P1 Mobile CADD laptop, G6, i7, 32GB, 512GB SSD, 3	43.00	\$2,202.00	\$94,686.00
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00009685 RC-00019412 for PO-	Lenovo Inc	YR NBD warranty ThinkPad X1 Carbon light weight laptop, G11, i7, 16GB, 512GB	2.00	\$1,340.00	\$2,680.00
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00009685 RC-00019412 for PO-	Lenovo Inc	SSD, 3 YR NBD warranty Desktop TC M70s, G3, i7, 16GB, 512GB SSD, 4YR NBD Warranty	114.00	\$851.00	\$97,014.00
Related Equipment		00009685					
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00019412 for PO- 00009685	Lenovo Inc	ThinkPad Universal USB-C Dock	202.00	\$181.00	\$36,562.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00019412 for PO- 00009685	Lenovo Inc	ThinkPad Thunderbolt 4 Workstation Dock	43.00	\$312.00	\$13,416.00
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00019421 for PO- 00009199	CDW GOVERNMENT INC	HP Officejet Pro 9110B Desktop Inkjet Printer - Color	1.00	\$145.49	\$145.49
7070 to 7110 - Computers &	7070 "G" Equipment	RC-00019430 for PO- 00009685	Lenovo Inc	ThinkPad X1 Carbon light weight laptop, G11, i7, 16GB, 512GB	46.00	\$1,340.00	\$61,640.00
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	RC-00019430 for PO-	Lenovo Inc	SSD, 3 YR NBD warranty ThinkPad Universal USB-C Dock	336.00	\$181.00	\$60,816.00
Related Equipment 7070 to 7110 - Computers &	7070 "G" Equipment	00009685 RC-00019431 for PO-	Lenovo Inc	ThinkPad T16 laptop, G2, I7, 16GB, 512GB SSD, 3 YR NBD	490.00	\$1,138.00	\$557,620.00
Related Equipment 7070 to 7110 - Computers &	7110 "G" Equipment	00009685 RC-00019497 for PO-	CDW GOVERNMENT INC	warranty HP Officejet Pro 8135e Inkjet Multifunction Printer-Color-	1.00	\$164.89	\$164.89
Related Equipment		00009199		Copier/Fax/Scanner-29 ppm			
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00019543 for PO- 00010117	CDW GOVERNMENT INC	HP E24 G5 24" Class Full HD LCD Monitor - 16 9 - Black	2.00	\$195.00	\$390.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00019543 for PO- 00010117	CDW GOVERNMENT INC	HP E24 G5 24" Class Full HD LCD Monitor - 16 9 - Black	6.00	\$195.00	\$1,170.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00019554 for PO- 00010134	AMAZON BUSINESS	MUNBYN 2024 Android Scanner with Full Screen 5.5" & Dock Charger Android 11, Zebra Barcode Scanner SE4710 Rugged	1.00	\$599.00	\$599.00
7070 to 7110 - Computers &	7070 "G" Equipment	RC-00019554 for PO- 00010134	AMAZON BUSINESS	MUNBYN Android Barcode Scanner, 2024 Honeywell N6703	1.00	\$549.99	\$549.99
Related Equipment 7070 to 7110 - Computers &	7110 "G" Equipment	RC-00019557 for PO-	HP Inc	Scanner, Android 11, 5.5" PDA Mobile Computer Handheld GPS HP 5 year Next Business Day Onsite HW Support w/Defective	1.00	\$1,160.52	\$1,160.52
Related Equipment	l	00009654	I	Media Retention for DesignJet T1700 2 roll			

Related Equipment 00009200 viewable) LED-backlit LCD TV - Crystal UHD - 4K	\$195.00	
Related Equipment 00009199	φ100.00	\$0.00
	¢405.00	·
7070 to 7110 - Computers & 7070 "G" Equipment RC-00019660 for PO- 00009199 CDW GOVERNMENT INC HP E24 G5 24" Class Full HD LCD Monitor - 16:9 0.00	·	\$0.00
7070 to 7110 - Computers & 7070 "G" Equipment RC-00019665 for PO- 00009199 CDW GOVERNMENT INC HP E24 G5 24" Class Full HD LCD Monitor - 16:9 2.00	\$195.00	\$390.00
7070 to 7110 - Computers & 7100 "G" Equipment RC-00020077 for PO- HEARTLAND BUSINESS Meraki MR46 Wi-Fi 6 Indoor AP 38.00 Related Equipment SYSTEMS LLC	\$811.29	\$30,829.02
7070 to 7110 - Computers & 7100 "G" Equipment RC-00020077 for PO- HEARTLAND BUSINESS Meraki MR76 Wi-Fi 6 Outdoor AP 6.00 Related Equipment SYSTEMS LLC	\$895.21	\$5,371.26
7070 to 7110 - Computers & 7100 "G" Equipment RC-00020077 for PO- Related Equipment 00009928 SYSTEMS LLC 138.00	\$506.10	\$69,841.80
7070 to 7110 - Computers & 7100 "G" Equipment RC-00020077 for PO- HEARTLAND BUSINESS Meraki MX75 Router/Security Appliance 1.00	\$550.84	\$550.84
Related Equipment 00009928 SYSTEMS LLC 7070 to 7110 - Computers & 7100 "G" Equipment RC-00020077 for PO- HEARTLAND BUSINESS Cisco Catalyst C9300L-48P-4X Layer 3 Switch - 48 Ports - 11.00	\$4,962.99	\$54,592.89
Related Equipment 00009928 SYSTEMS LLC Manageable - 7070 to 7110 - Computers & 7100 "G" Equipment RC-00020276 for PO- Lead Creek Technologies 1.0 EA 79669 Standard Back Panel 1.00	\$15,237.63	\$15,237.63
Related Equipment 00009339		\$13,921.11
Related Equipment 00009356 LLC 1.0 79626 Lufft LCOM RPU		
7070 to 7110 - Computers & Policy Flag (1) RC-00020278 for POlicy Flag (1) Lead Creek Technologies (1) 9999.10WA lowa RPU Backpanel (1) 1.00 Related Equipment 00009337 LLC 79519 Surge Protection UMB 1.0		\$14,975.70
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020280 for PO-	·	\$1,365.00
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020280 for PO-	\$195.00	\$1,950.00
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020438 for PO- AMAZON BUSINESS Logitech GROUP conferencing system 1.00 Related Equipment 00010680	\$1,109.90	\$1,109.90
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020472 for PO- Related Equipment RC-00020472 for PO- MANU ARCHER/TABLET 1.00	\$350.00	\$350.00
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020472 for PO- SEILER INSTRUMENT & MAPSMART ANDROID APP SOLUTION, Includes 3210009-E 1.00	\$1,695.00	\$1,695.00
Related Equipment 00010513 MANU MAPSMART 7070 to 7110 - Computers & 7100 "G" Equipment RC-00020503 for PO-HEARTLAND BUSINESS Nexus 9300 48p 1/10/25G, 6p 40/100G, MACsec, SyncE 1.00	\$12,145.27	\$12,145.27
Related Equipment 00010116 SYSTEMS LLC 7070 to 7110 - Computers & 7070 "G" Equipment RC-00020530 for PO- Insight Public Sector Topaz Signature Gem T-LBK462-HSX-R Signature Terminal - 13.00	\$367.74	\$4,780.62
Related Equipment 00010713 USB 7070 to 7110 - Computers & 7100 "G" Equipment RC-00020621 for PO- HP Inc HP Color LJ Ent M751dn Prntr:US/CA/LA 1.00	\$2,256.54	\$2,256.54
Related Equipment 00010494 7070 to 7110 - Computers & 7100 "G" Equipment RC-00020622 for PO- HP Inc HP Color LJ Ent M751dn Pmtr:US/CA/LA 1.00		\$2,256.54
Related Equipment 00010436		
7070 to 7110 - Computers & RC-00020657 for PO- Related Equipment RC-00020657 for PO- 00010735 KELTEK INC L-Tron Next Generation Imaging Scanner Unit Kit 4910LR-152- LTRK 8.00		\$3,300.00
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020702 for PO-	\$1,013.24	\$1,013.24
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020703 for PO-	\$235.00	\$1,645.00
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020710 for PO- Related Equipment Desktop TC M70t Gen3_Intel Q670_TWR_ES_ 119.00	\$875.00	\$104,125.00
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020719 for PO- CDW GOVERNMENT INC Chief Articulating mount 1.00 Related Equipment 00010581	\$440.00	\$440.00
7070 to 7110 - Computers & 7110 "G" Equipment RC-00020753 for PO- CDW GOVERNMENT INC HP LaserJet Pro 4001n - printer - B/W - laser 0.00	\$210.00	\$0.00
Related Equipment 00010843 7070 to 7110 - Computers & 7070 "G" Equipment RC-00020762 for PO- CDW GOVERNMENT INC HDMI cable 25' 8.00	\$14.40	\$115.20
Related Equipment 00010581	\$14.00	\$28.00
Related Equipment 00010845 Ethernet - 25 ft 7070 to 7110 - Computers & 7070 "G" Equipment RC-00020782 for PO- AMAZON BUSINESS TV - dimensions needed 38" wide x 22" high 1.00	\$199.99	\$199.99
Related Equipment 00010919 Westinghouse Roku TV - 42 Inch Smart TV, 1080P LED Full HD 7070 to 7110 - Computers & 7100 "G" Equipment RC-00020796 for PO- BAKER GROUP Avigilon 3X PRO 16-port, 6TB, HD video storage appliance. 1.00		\$5,265.00
Related Equipment 00010006 Pricing should include installation and programming of existing	, , , , , , , , , , , , , , , , , , , ,	
Related Equipment 00010843		\$210.00
7070 to 7110 - Computers & 7110 "G" Equipment RC-00020838 for PO- AMAZON BUSINESS Wireless Portable Inkjet Photo Printer 50 Sec 9600x2400dpi 4x6 6.00 Usb Usb Computers	\$185.28	\$1,111.68
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020840 for PO- CDW GOVERNMENT INC Logitech GROUP HD Video and Audio Conferencing System - 2.00 video conferencing	\$669.00	\$1,338.00
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020864 for PO- AMAZON BUSINESS MUNBYN 2024 Android 13 Banrcode Scanner with 5.5" Full 13.00 Related Equipment Screen & Dock Charger, Zebra Barcode Scanner SE4710 Rugged	\$481.30	\$6,256.85
7070 to 7110 - Computers & 7070 "G" Equipment	\$99.00	\$792.00
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020890 for PO- CDW GOVERNMENT INC J5Create Screencast 4K Disp Adapter 1.00	\$99.00	\$99.00
Related Equipment 00010761 7070 to 7110 - Computers & 7070 "G" Equipment RC-00020891 for PO- CDW GOVERNMENT INC j5create ScreenCast 4K Wireless Adapter Screen 2.00	\$99.00	\$198.00
Related Equipment 00010845 7070 to 7110 - Computers & 7110 "G" Equipment RC-00020892 for PO- CDW GOVERNMENT INC Hp OfficeJet Pro 8135e All-In-One Printer-Color- 1.00	\$198.00	\$198.00
Related Equipment 00010843 Copier/Fax/Scanner-29 ppm Mono/25 ppm Color Print-4800x1200 7070 to 7110 - Computers & 7070 "G" Equipment RC-00020901 for PO- CDW GOVERNMENT INC HP E24 G5 24" Class Full HD LCD Monitor - 16 9 - Black 80.00	\$195.00	\$15,600.00
Related Equipment 00010946 7070 to 7110 - Computers & 7070 "G" Equipment RC-00020904 for PO- CDW GOVERNMENT INC 55" Consumer quality TV - Class 4K HDR Smart TV, multiple 2.00		\$910.00
Related Equipment 00010845 HDMI ports - Samsung BE55C-H BEC-H Series - 55" EQuipment RC-00020904 for PO- CDW GOVERNMENT INC Chief Mount LTM1U - Chief Fusion Large Micro-Adjustable Tilt TV 2.00		\$470.00
Related Equipment 00010845 Wall Mount - For		
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020905 for PO- 00010761 CDW GOVERNMENT INC 55" Consumer quality TV - Class 4K HDR Smart TV, multiple 1.00 HDMI ports		\$455.00
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020905 for PO- 00010761 CDW GOVERNMENT INC Chief Mount XTM1U 1.00	\$260.00	\$260.00
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020918 for PO- 00010581 RC-00020918 RC-0002091	\$688.00	\$4,816.00
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020918 for PO- CDW GOVERNMENT INC 65" 4K Smart TV with multiple HDMI ports, Consumer grade 1.00 Related Equipment 00010581	\$688.00	\$688.00
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020955 for PO- Related Equipment 00010947 AMAZON BUSINESS MUNBYN 2024 Android 13 Banrcode Scanner with 5.5" Full 2.00 Screen & Dock Charger, Zebra Barcode Scanner SE4710 Rugged	\$481.30	\$962.59
7070 to 7110 - Computers & 7070 "G" Equipment RC-00020961 for PO- CDW GOVERNMENT INC 25' HDMI to HDMI cable male to male 1.00	\$14.40	\$14.40
Related Equipment 00010761 7070 to 7110 - Computers & 7070 "G" Equipment RC-00020963 for PO- US BANK CARDMEMBER Apple iPad (10th Generation) 256GB in Silver 2.00	\$549.00	\$1,098.00
Related Equipment 00010969 SERVICES (PCARD) 7070 to 7110 - Computers & 7100 "G" Equipment RC-00020986 for PO- Sirius Computer Solutions DELL PowerEdge R760xs Server 5.00	\$9,759.82	\$48,799.10
Related Equipment 00010824 7070 to 7110 - Computers & 7070 "G" Equipment RC-00020996 for PO- CDW GOVERNMENT INC Chief Flat mount 1.00		\$315.00
Related Equipment 00010582 00010582 00010582 00010582 00010582 00010582 1.00		\$1,219.00
Related Equipment RC-00021007 for PO- CDW GOVERNMENT INC 85°4K Commercial Display, multiple HDMI ports 1.00 00010582	\$1,∠19.00	\$1,∠19.00

7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00021052 for PO- 00011030	AMAZON BUSINESS	reMarkable 2 tablet	0.00	\$299.00	\$0.00
7070 to 7110 - Computers &	7070 "G" Equipment	RC-00021052 for PO-	AMAZON BUSINESS	Model Book Folio protective case	0.00	\$169.00	\$0.00
Related Equipment	Toro G Equipment	00011030	7 WIN AZON BOOMAZOO	Model Book I one protestive case	0.00	ψ103.00	ψ0.00
7070 to 7110 - Computers &	7070 "G" Equipment	RC-00021052 for PO-	AMAZON BUSINESS	Model Marker Plus	0.00	\$131.00	\$0.00
Related Equipment		00011030					
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00021053 for PO- 00011030	AMAZON BUSINESS	reMarkable 2 tablet	1.00	\$299.00	\$299.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00021075 for PO- 00010582	CDW GOVERNMENT INC	Microsoft 4K adapter	1.00	\$99.00	\$99.00
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00021111 for PO- 00010715	Graybar Electric Co Inc	TDP43ME-KIT Desktop Printer, Kit, 300 dpi, 4 IN/s Print Speed, PK1	1.00	\$1,537.35	\$1,537.3
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00021153 for PO- 00010972	Sirius Computer Solutions	POWEREDGE R760XS 461-AADZ NO TRUSTED PLATFORM MODULE 1 \$0.00	1.00	\$10,811.66	\$10,811.6
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00021174 for PO- 00011057	US BANK CARDMEMBER SERVICES (PCARD)	Apple iPad (10th Generation) 256GB in Silver	1.00	\$549.00	\$549.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00021191 for PO- 00010273	EZ-LINER INDUSTRIES	DL-18 DATA LOGGER	1.00	\$10,095.00	\$10,095.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00021191 for PO- 00010273	EZ-LINER INDUSTRIES	GLASS COCKPIT INTERFACE	1.00	\$4,150.00	\$4,150.00
	7070 "G" Equipment	RC-00021191 for PO- 00010273	EZ-LINER INDUSTRIES	MNTR HD 18.5"	1.00	\$1,500.00	\$1,500.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00021191 for PO- 00010273	EZ-LINER INDUSTRIES	MNTR HD 13.3"	1.00	\$1,350.00	\$1,350.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00021212 for PO- 00011030	AMAZON BUSINESS	Model Book Folio protective case	1.00	\$169.00	\$169.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00021212 for PO- 00011030	AMAZON BUSINESS	Model Marker Plus	1.00	\$131.00	\$131.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00021273 for PO- 00009347	Lead Creek Technologies	1.0 EA 79669 Standard Back Panel 1.0 79626 Lufft LCOM RPU	1.00	\$15,237.63	\$15,237.6
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00021275 for PO- 00009354	Lead Creek Technologies	79626 Lufft LCOM RPU 79669 9999.IOWA Iowa RPU Backpanel	1.00	\$14,272.64	\$14,272.6
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00021276 for PO- 00009353	Lead Creek Technologies LLC	79626 Lufft LCOM RPU 79669 9999.IOWA Iowa RPU Backpanel	1.00	\$13,659.18	\$13,659.1
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00021277 for PO- 00009352	Lead Creek Technologies LLC	79669 9999.IOWA Iowa RPU Backpanel 79519 Surge Protection UMB 1.0	1.00	\$14,624.17	\$14,624.1
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00021278 for PO- 00009351	Lead Creek Technologies LLC	79626 Lufft LCOM RPU 79669 9999.IOWA Iowa RPU Backpanel	1.00	\$14,534.57	\$14,534.5
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00021279 for PO- 00009350	Lead Creek Technologies LLC	Lufft LCOM RPU 9999.IOWA Iowa RPU Backpanel	1.00	\$13,569.58	\$13,569.5
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00021280 for PO- 00009348	Lead Creek Technologies LLC	79626 LCOM RPU LCOM RPU Contract Part No. Lufft 8510.EAK 9999.IOWA Iowa RPU Backpanel	1.00	\$13,569.58	\$13,569.5
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00021324 for PO- 00011159	CDW GOVERNMENT INC	HP OfficeJet Pro 8135e All-in-One Printer	1.00	\$198.00	\$198.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00021464 for PO- 00011091	AMAZON BUSINESS	NEC MultiSync ME431 LCD 43"	1.00	\$830.61	\$830.6
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00020655 for PO- 00008645	HEARTLAND BUSINESS SYSTEMS LLC	Core Upgrade Project Professional Services - SOW Attached	0.00	\$0.00	\$53,245.00
7070 to 7110 - Computers & Related Equipment Total					3,004.00	0	\$5,840,413.4
Grand Total					5,434.00		\$32,850,803.6